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Child Development and Pedagogy

1.	 Which domain of development relates to intellectual 
abilities such as attention, memory, problem-solving, 
imagination and creativity?
(1)	 Emotional domain	 (2)	 Cognitive domain
(3)	 Social domain	 (4)	 Physical domain

2.	 Sana learnt to hold a glass and a bottle before she 
could hold a pen or button her shirt. This example 
indicates that:
(1)	 Development is unidimensional.
(2)	 Direction of development is cephalo -caudal.
(3)	 Direction of development is proximo - distal.
(4)	 Direction follows a random pattern.

3.	 Development of children is a result of:
(1)	 only heredity.
(2)	 only environment.
(3)	 schooling and education.
(4)	 interaction between heredity and environment.

4.	 Which of these is NOT a primary agent of socialization?
(1)	 Family	 (2)	 Neighbourhood
(3)	 Peers	 (4)	 Government

5.	 On the basis of children’s responses to Heinz's 
dilemma, Lawrence Kohlberg has proposed specific 
developmental stages of:
(1)	 Moral Development
(2)	 Social Development
(3)	 Psychological Development
(4)	 Personal Development

6.	 9-year-old Leela classifies a collection of buttons 
according to their size. She then combines all groups 
of buttons and re-distributes them on the basis of 
holes on them. According to Jean Piaget’s theory of 
cognitive development, Leela is in ............... stage of 
development.
(1)	 Pre-operational
(2)	 Formal-operational
(3)	 Concrete-Operational
(4)	 Sensori-Motor

7.	 ............... occurs when children transform their 
experiences to fit into their existing schemes.
(1)	 Assimilation	 (2)	 Accommodation
(3)	 Centration	 (4)	 Conservation

8.	 Lev Vygotsky’s theory of cognitive development is 
called a ............... theory as he argues that children’s 
learning takes place in a context.
(1)	 psycho -dynamic	 (2)	 psychosexual
(3)	 social -cultural	 (4)	 behaviouristic

9.	 When a teacher adjusts the support offered to a child 
to fit the child’s current level of performance and to 
help her reach her zone of proximal development, 
the teacher is:

(1)	 using co-operative learning.
(2)	 demonstrating inter -subjectivity.
(3)	 scaffolding the child.
(4)	 inducing cognitive conflict in the child.

10.	 In a progressive classroom:
(1)	 teaching is textbook -centric.
(2)	 emphasis is placed on summative assessment.
(3)	 learners play an active part in their learning.
(4)	 teachers uses rewards and punishment to direct 

children’s learning.
11.	 ............... intelligence refers to the ability to 

recognize and respond appropriate to the moods, 
temperaments and intentions of others.
(1)	 Interpersonal	 (2)	 Intrapersonal
(3)	 Spatial	 (4)	 Logics -mathematical

12.	 National Education Policy 2020 proposes that:
(1)	 children in primary grades should be taught in 

home / local languages.
(2)	 there should be one uniform language of 

instruction in primary classes.
(3)	 teachers should be discouraged to use a bilingual 

approach.
(4)	 multilingualism should be heavily discouraged.

13.	 A School gives preference to boys while selecting 
students for Badminton competition and to girls for 
music competitions. This indicates:
(1)	 Gender stability	 (2)	 Gender identity
(3)	 Gender equality	 (4)	 Gender stereo typing

14.	 Continuous and comprehensive evaluation entails 
which of these:
(i)	 planning on parameters and tools of evaluation
(ii)	 meticulous record keeping by the teacher
(iii)	 periodic testing and ranking of children
(iv)	 integration with the teaching-learning process
(1)	 i, ii, iv	 (2)	 ii, iv
(3)	 i, ii, iii	 (4)	 ii, iii

15.	 What should be the underlying principle for 
assessment according to National Education Policy 
2020?
(1)	 Primarily testing rote memorization skills
(2)	 Encouraging learning of content only
(3)	 Optimizing learning and development for all 

students
(4)	 Assessing students only into the cognitive 

domains through end-of-the-year examination
16.	 Which is the following is the latest legislation passed 

by the Indian Parliament for people with disability?
(1)	 National Education Policy
(2)	 Person with Disabilities (Equal Opportunities, 

Protection of Rights and Full Participation) Act
(3)	 Rights of Persons with Disabilities Act
(4)	 Right to Education Act
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17.	 Which of the following statement accurately describes 
the spirit of inclusion in a primary classroom?
(1)	 Teacher promotes the use of a standard and 

uniform language only
(2)	 Teacher holds prejudice towards children from 

certain caste groups
(3)	 Teacher does not have any expectations from 

children with special educational needs
(4)	 Teacher practices culturally responsive pedagogy.

18.	 The set of characteristics that defines gifted students 
are:
(i)	 learns rapidly and retains
(ii)	 is alert, keenly observant and responds quickly
(iii)	 performs better with acceleration
(1)	 (i), (ii)	 (2)	 (i), (iii)
(3)	 (i), (ii), (iii)	 (4)	 (ii), (iii)

19.	 Which of the following is NOT an effective 
pedagogical strategy for the inclusion of students 
with the severe visual impairment ?
(1)	 Speaking clearly and explicitly
(2)	 Three-dimensional maps and charts
(3)	 Felt books and felt boards
(4)	 Use of computers to give visual presentations

20.	 Assertion (A): Teachers should provide diverse 
learning opportunities to facilitate meaningful 
learning for all children.

	 Reasons (R): All children have the potential to learn. 
Choose the correct option.
(1)	 Both (A) and (R) are true and (R) is the correct 

explanation of (A).
(2)	 Both (A) and (R) are true but (R) is not the correct 

explanation of (A).
(3)	 (A) is true but (R) is false.
(4)	 Both (A) and (R) are false.

21.	 A student with external Locus of control would 
attribute his/ her failure in the examination to:
(1)	 lack of ability.	 (2)	 lack of preparation.
(3)	 (faulty) attitude.	 (4)	 (bad) luck.

22.	 Which of the following should be kept in mind while 
creating an effective environment in a progressive 
classroom:
(i)	 Methods of arranging the material to encourage 

exploration
(ii)	 Ways of supporting students in risk-taking
(iii)	 Putting students of some ability in one group
(iv)	 Varied methods of assessment
(1)	 (iv), (i)	 (2)	 (ii), (iv)
(3)	 (i), (ii), (iv)	 (4)	 (i), (ii), (iii), (iv)

23.	 Which of the following is a cooperative learning 
strategy?
(1)	 Shaping	 (2)	 Seriation
(3)	 Social isolation	 (4)	 Reciprocal questioning

24.	 Mohan provides students with containers of 
different capacities to help them learn the concept 
of volume. Farah asks students to brainstorm on 
possibilities of making waste disposal a mechanical 
task so that people do not have to do these menial 
tasks.

	 Both of the teachers are employing ............... in their 
classroom.
(1)	 Behaviourism	 (2)	 Constructivism
(3)	 Direct instruction	 (4)	 Operant conditioning

25.	 Assertion (A): Apart from academic learning it is 
important to focus on the socio-emotional needs of 
the students in an educational setup.

	 Reasons (R): Emotions play a significant role in 
cognition.

	 Choose the correct option.
(1)	 Both (A) and (R) are true and (R) is the correct 

explanation of (A).
(2)	 Both (A) and (R) are true but (R) is not the correct 

explanation of (A).
(3)	 (A) is true and (R) is false.
(4)	 Both (A) and (R) are false.

26.	 Understanding errors made by children in academic 
work:
(1)	 is relevant merely in assessing students’ 

intellectual abilities.
(2)	 is relevant only to judge a teacher’s efficiency in 

teaching.
(3)	 is relevant to understand teaching as well as the 

learning process.
(4)	 is not relevant to any domain related to teaching 

or learning.
27.	 Critical thinking involves:

(i)	 metacognition
(ii)	 analysis
(iii)	 reflection
(1)	 (i), (ii), (iii)	 (2)	 (i), (ii)
(3)	 (ii), (iii)	 (4)	 (i), (iii)

28.	 Anita, a teacher of 4th grade is facing a situation 
in her class where several students are reporting 
boredom in ongoing theme. In this scenario, she 
should:
(1)	 Ignore these students and continue teaching the 

same content.
(2)	 Punish these students and report this to their 

parents.
(3)	 Reflect on the content of the lesson and method 

of teaching.
(4)	 Assume that these students are not capable of 

learning.
29.	 What should a teacher tell her students to encourage 

them to be intrinsically motivated for tasks?
(1)	 The students who finishes first will get 5 stars.
(2)	 Let me see who finishes first, and who is the 

smartest.
(3)	 Working on this is so interesting. Let’s see what 

we can learn from this activity.
(4)	 Those who do not finish quickly will not go out 

and play the games period.
30.	 Pace of learning is:

(1)	 dependent solely on personal factors.
(2)	 dependent solely on environmental factors.
(3)	 dependent on the interaction of personal and 

environmental factors.
(4)	 independent of both personal and environmental 

factors.

Mathematics

31.	 For conducting a group activity, Ms. Anju, a class 
4 teacher has used a collection of pebbles. She has 

distributed th of the pebbles to group 1, th to 

group 2 and rd to group 3. After distributing if she 
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has 26 pebbles left with her, what was the minimum 
number of pebbles she might have brought in the 
class?
(1)	 60	 (2)	 120
(3)	 73	 (4)	 146

32.	 A teacher asked students of class II to mark some 
points on a sheet of paper. Later, she asked the 
students to draw a rectangle in the same sheet 
without passing through any of these points. Then 
she asked the students to count the points inside the 
rectangle. Through this activity, sh cannot teach 
(1)	 Comparison of Numbers
(2)	 Area of rectangle
(3)	 Inside-Outside
(4)	 Spatial Understanding

33.	 What is the number of tens in 708?
(1)	 0	 (2)	 8
(3)	 7	 (4)	 70

34.	 In a six digit number, the digit at thousands place 
is 4. The digit at tens place is double that of digit 
at thousands place and digit at hundreds place 
is half of the digit at thousands place. The digit at 
units place is half of the digit at hundreds place. 
Digit at Ten thousands place is sum of the digits at 
thousands and hundreds place and digit at lakhs 
place is half the digit at ten thousands place. What 
will be the number?
(1)	 634821	 (2)	 364812
(3)	 634281	 (4)	 364281

35.	 Farhan's father asked him to arrange some mangoes 
in groups. When he arranged them in a group of 2, 
then 1 mango was left. He did the same with groups 
of 3 and 7 and each time one mango was left. He 
knows that the number of mangoes are less than 
50. If he arranges them in groups of 5, how many 
mangoes will be left?
(1)	 0	 (2)	 1
(3)	 2	 (4)	 3

36.	 What is the next term of the sequence 0, 1, 1, 2, 3, 5, 
8, 13, 21, 34, .....?
(1)	 43	 (2)	 47
(3)	 55	 (4)	 68

37.	 Gopalji has 8 cows and each of them gives 2 litre of 
milk everyday which he sells in a nearby hotel at 
a rate of `15.00 per litre. If he sells milk every day 
in the month of June, how much amount he should 
earn?
(1)	 `3600	 (2)	 `7200
(3)	 `7600	 (4)	 `9000

38.	 A wire of length 86 cm is used to form a rectangle 
whose length (largest side) is 26 cm. Then same 
rectangle has been changed into another rectangle 
whose length (largest side) is 31 cm. What will the 
difference between the breadth (smallest side) of 
both the rectangles?
(1)	 17 cm	 (2)	 12 cm
(3)	 5 cm	 (4)	 3 cm

39.	 Teacher asked class 5 students to observe the corners 
of the following objects: Note book, Table, Black 
board. Through this activity she can discuss about:
(1)	 Right angle
(2)	 Area of rectangles
(3)	 Perimeter of rectangles
(4)	 Difference between square and rectangle

40.	 Raghu started from his home to school at 9:10 am. 
It requires 20 minutes to reach school. When he 
reached exactly half way he noticed that he forgot 
his math notebook at home. So he went back and 
took it. If he travelled in same speed throughout his 
journey, where will be the minute hand of the clock 
when he reaches school?
(1)	 6	 (2)	 7
(3)	 8	 (4)	 10

41.	 Ganesh and Dinga want to pack 400 cubes of side 
1 cm in various boxes. There are four different 
boxes A, B, C, D having dimension 20 cm × 10 cm 
× 6 cm, 15 cm × 9 cm × 10 cm, 11 cm × 11 cm × 
10cm, 6  cm  × 4  cm × 10 cm respectively available 
for packing. How many centimetre cubes can be 
arranged in boxes A, B, C and D respectively?
(1)	 1100, 1350, 1260, 290	 (2)	 1210, 1200, 1300, 290
(3)	 1200, 1250, 1310, 240	 (4)	 1200, 1350, 1210, 240

42.	 If a water tank has 500 litre water, then how many 
maximum pots, of equal capacity of 250 ml, can be 
filled from the water tank?
(1)	 200	 (2)	 600
(3)	 2500	 (4)	 2000

43.	 A number series is given with two of the terms 
missing. Choose the correct alternative that will 
continue the same pattern.

	 2, 0, 4, 2, 6, 6, ....., 12, 10, ..... .
(1)	 10, 20	 (2)	 12, 10
(3)	 8, 20	 (4)	 8, 48

44.	 What is the median of the following fractional 
numbers:

(1)
	 	

(2)
	

(3)
	 	

(4)
	

45.	 Children of a class were asked which of these 
they liked the most—Tea, Coffee or Milk. Children 

who
 

like Tea, Coffee and Milk are 
 

respectively of the total children of the class. If 20 
children like coffee, how many children like milk?
(1)	 10	 (2)	 20
(3)	 30	 (4)	 40

46.	 A mathematics teacher asks the students to identify 
all the rectangles in a tangram. The above activity is 
appropriate for assessing the learners at which level 
of geometric reasoning according to the Van-Hiele.
(1)	 Visualization
(2)	 Axiomatic
(3)	 Establishing relationships between different 

shapes.
(4)	 Recognition of shapes

47.	 Games and puzzles are effective strategies in 
teaching mathematics since they help in enhancing
(1)	 Procedural understanding
(2)	 Conceptual understanding
(3)	 Utilization understanding
(4)	 Factual understanding
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48.	 Which of the following reflects the correct sequence 
of learning mathematics, as given by Zolton Dienes:
(1)	 Mathematical abstraction, Perceptual variability 

principle, Constructivity principle
(2)	 Perceptual variability principle, Mathematical 

variability principle, Constructivity Principle
(3)	 Mathematical variability principle, Constructivity 

principle, Perceptual variability principle
(4)	 Constructivity principle, Perceptual variability 

principle, Mathematical variability principle
49.	 Ismail, a primary mathematics teacher, always first 

carry out some activities to understand his student's 
previous knowledge. Based on the student's 
performance, he decides whether to move ahead 
with the next concept or revise and consolidate 
the previous concept and then move to the next 
concept. As a mathematics teacher, Ismail,
(1)	 Is following a linear model of assessment which 

includes planning, teaching a topic and assessing 
the teaching episode.

(2)	 Is wasting a lot of time and should focus on 
completing the syllabus

(3)	 Should carry out the assessment only after 
completing the topic

(4)	 Is following a cyclic model of assessment 
which includes gathering information through 
assessment to improve learning environment for 
students.

50.	 Anees has given a group project to his students to 
classify different geometrical shapes. Which of the 
following assessment techniques will be best suitable 
to assess students' performance in this project?
(1)	 Rubrics	 (2)	 Paper pencil test
(3)	 Check list	 (4)	 Concept map

51.	 Which of the following statement describes most 
appropriately the purpose of word problems in 
mathematics curriculum?
(1)	 They can be used to test language competencies 

of the students.
(2)	 They are helpful in introducing any formal 

algorithm of solving problems in mathematics.
(3)	 They make mathematics more linked to the 

world outside the school.
(4)	 They can be easily solved by all the students.

52.	 Which of the following processes are part of Pre-
number concepts in young children?
(1)	 Classification, patterning and one-to-one 

correspondence
(2)	 Counting, skip counting and classification
(3)	 Skip counting, patterning and conservation of 

number
(4)	 Classification, counting and ordering of numbers

53.	 Which one of the following should NOT  be feature 
of Mathematics text books at primary level?
(1)	 Concept should be linked to higher classes
(2)	 Concept should be presented in a hierarchical 

manner
(3)	 Concept should be presented from complex to 

simple
(4)	 Concept should be presented in contextual form 

wherever possible

54.	 Use of manipulatives is integral to the teaching-
learning of mathematics at primary level because
(1)	 It helps to make connections with other subjects 

in Primary curriculum
(2)	 It helps the school score better during annual 

inspection
(3)	 It helps the learner to comprehend the 

mathematical concept
(4)	 It saves teacher's time as she/he does not have to 

solve the problems on black board

55.	 To an addition problem, , a class 2 student 

responded as . As a reflective mathematics 

teacher, what will be your reaction to the child's 
answer?
(1)	 Ask the child to recheck the answer
(2)	 Tell the child that the answer is wrong and 

consult the answer with the peers
(3)	 Facilitate the child in conceptualising the addition 

through regÙouping with a focus on place value 
system

(4)	 Ask the child to go thorugh the solved problems 
in the textbook and practice similar questions

56.	 National Curriculum Framework, 2005 recommends 
that teaching-learning of mathematics in primary 
classes need to follow an integrated approach which 
implies that:
(a)	 mathematics needs to be integrated with problem 

solving.
(b)	 mathematics needs to be integrated with child's 

experiences inside and outside the classroom.
(c)	 mathematics needs to be integrated with 

other subjects like Environmental Science and 
Language.

(d)	mathematics need not be integrated with higher 
mathematics.

Options:
(1)	 b and c	 (2)	 a and b
(3)	 c and d	 (4)	 a and d

57.	 Which of the following is a dynamic mathematics 
software that brings together geometry, algebra, 
spreadsheets, graphing, statistics and calculus in one 
easy-to-use package?
(1)	 GeoGebra	 (2)	 Pattern Shapes
(3)	 Geometry Pad	 (4)	 Splash Math

58.	 Which among the following activities is/are 
appropriate for teaching numbers from 1 to 9.
a.	 Give different objects and use one-to-one 

correspondence and ask students to count.
b.	 Give a number and ask students to collect the 

objects associated with the number.
c.	 Recite the number from 1 to 9 in a sequence 

orally till the students could memorise it
Options:
(1)	 a and b	 (2)	 b and c
(3)	 a and c	 (4)	 only a
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59.	 In a class test to the question, find out 23% of 200, 
two students answered in following ways:

	 Student A:	 23% of 200	 = 23% of (100 + 100)
				    = 23 + 23
				    = (20 + 20) + (3 + 3)
				    = 46

	 Student B:	 23% of 200	 =

	 			   = 2 × 23
	 			   = 46
	 Which of the following statements is the most 

appropriate in the given context?
(1)	 Since student B has used the standard algorithm, 

teacher gives full marks to student B and zero to 
student A

(2)	 Teacher gives full marks to both the students as 
they have attempted the question using their 
own algorithms. Both formal and informal 
algorithms are integral to solving problems in 
mathematics.

(3)	 Teacher gives zero marks to student A and directs 
him to redo the question using the algorithm 
taught in the class.

(4)	 Teacher accepts both the responses but directed 
student A to refrain from using informal 
algorithm

60.	 Ms. Kamala, while introducing the concept of 
"Similarity" has provided different experiences to her 
students such as models of different shapes, pictures 
of shapes projected via computer, discussion in 
groups etc. The intention of Ms. Kamala in providing 
multiple experiences to the learners is:
(1)	 to give some free time to children
(2)	 to help slow learners
(3)	 to help gifted learners
(4)	 to cater the needs of all learners

Environmental Studies

61.	 Your house is located at X and your school is located 
at Y. To reach your school at Y you first go 3 km due 
north and then 4 km due east. With respect to your 
school at Y the minimum distance and direction of 
your house respectively are:
(1)	 7 Km south	 (2)	 7 Km east
(3)	 5 Km south west	 (4)	 5 Km north west

62.

Place Most liked food

A. Goa I. Chholay Bhature

B. Kashmir II. Cooked Snakes

C. Kerala III. Boiled tapioca with curry

D. Hongkong IV. Sea fish cooked in coconut 
oil

V. Fish cooked in mustard oil
	 The correct match of the items of column I and II is:

(1)	 A - IV B - III C - II D -V
(2)	 A - IV B - III C - V D - II
(3)	 A - IV B - I C - III D - II
(4)	 A - IV B - V C - III D - II

63.	 Chillies are one of the most important spices used 
almost in every part of our country. This spice was 
brought in our country by the traders coming from
(1)	 China	 (2)	 South Africa
(3)	 South America	 (4)	 Afghanistan

64.	 Neighbouring states of Gujarat are
(1)	 Rajasthan , Maharashtra, Madhya Pradesh
(2)	 Maharashtra, Madhya Pradesh, Karnataka
(3)	 Rajasthan , Bihar, Madhya Pradesh
(4)	 Rajasthan , Karnataka, Maharashtra

65.	 The name of the bird which has eyes in front of its 
head like in human beings is
(1)	 kite	 (2)	 eagle
(3)	 vulture	 (4)	 owl

66.	 A group of three birds whose every member can 
see distinctly the object four times as far as human 
beings can see from a distance of 2 meters is
(1)	 eagles, crows, pigeons
(2)	 eagles, kites, vultures
(3)	 Pigeon, parrot, kites
(4)	 Crows, Kites, nightingales

67.	 The Andaman Islands were hit by the tsunami in 
the year.
(1)	 2001	 (2)	 2002
(3)	 2004	 (4)	 2012

68.	 Consider the following statements about sloth.
A.	 A sloth spends almost 20 hours a day sleeping 

while hanging upside down on a tree branch.
B.	 A sloth eats the leaves of the same tree on which 

it lives. It hardly needs everything else.
C.	 Sloths life is about 20 years and in that time it 

moves around only two trees.
	 The correct statements is/are.

(1)	 Only A	 (2)	 Only B
(3)	 A and B	 (4)	 B and C

69.	 A tourist boarded a train on 12-10-2021 from Gandhi 
dham for Nagarcoil. The train departed from 
Gandhidham at 22:30 hours and reached Nagarcoil 
at 22:30 hours after two days on 14-10-2021. 

	 If the distance between the railway station of 
Gandhidham and Nagarcoil is 2592 km, the average 
speed of the train was.
(1)	 15 m/s	 (2)	 27 m/s
(3)	 30 m/s	 (4)	 54 m/s

70.	 The state in which the “Ghana National Park” is 
located is.
(1)	 Uttar Pradesh	 (2)	 Uttrakhand
(3)	 Rajasthan	 (4)	 Gujarat

71.	 What kind of houses should the villagers/people 
living in the regions with heavy rains (Such as 
Assam) make ?
(1)	 Bamboo houses.
(2)	 Houses on stilts (Bamboo pillars) with sloping 

roofs.
(3)	 Houses with mud and straws.
(4)	 wooden houses with flat roofs.

72.	 The pitcher plant which can trap and eat insects and 
even frogs is also found in one of the eastern states 
of our country. The name of this state is.
(1)	 Nagaland	 (2)	 Meghalaya
(3)	 Assam	 (4)	 Mizoram
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73.	 The clinical Pathology Reports of two children were 
as given follows:

	 Aarti : Age - 12 yrs, Female, Haemoglobin - 10.5 g/dL
	 Naman : Age - 12 yrs, Male, Haemoglobin - 8 g/dL
	 which one of the following conclusions can be 

drawn on the basis of the above reports?
(1)	 Aarti is anaemic	 (2)	 Naman is anaemic
(3)	 Both are anaemic	 (4)	 Both are not anaemic

74.	 Consider the following statements about Al-Biruni, a 
traveller who visited our country:
(A)	Al-Biruni visited India more than a thousand 

years ago.
(B)	He wrote about those things of our country that 

he found very different from things in his own 
country, specially the ponds for strong water.

(C)	We can learn a lot about our history from his 
writings.

	 The correct statement is/are.
(1)	 Only B	 (2)	 Only C
(3)	 B and C	 (4)	 A, B and C

75.	 Which one of the following persons first peeped into 
a mosquito stomach and proved that the mosquito 
spread malaria. Later on he was awarded the Noble 
Prize for Medicine for this discovery.
(1)	 Gregor Mendel	 (2)	 Rosalind Franklin
(3)	 Ronald Ross	 (4)	 Beaumont

76.	 In Environment studies the thematic approach has 
been adopted instead of topics because:
(A)	It enables a connected and interrelated 

understanding.
(B)	It enables easier teaching and understanding.
(C)	It enables delimiting the content for a particular 

class.
(D)	It enables students to learn from experiences.
(1)	 A, B & C	 (2)	 A, C & D
(3)	 A, B & D	 (4)	 B, C & D

77.	 Nature of Environmental studies is
(1)	 More a noun than a verb.
(2)	 More a verb than a noun.
(3)	 Both noun and verb.
(4)	 Neither noun nor verb.

78.	 While planning to teach ‘ Pollution’ in her next class, 
Nivedita found that students from rural background 
have not heard of term “Pollution” and hence will 
have difficulty in understanding it.

	 Which method should Nivedita use to introduce this 
concept?
(A)	Lecture
(B)	Brain Storming
(C)	Play through Puppets
(D)	Field visit
(1)	 C & D only	 (2)	 A & C only
(3)	 B & C only	 (4)	 B & D only

79.	 After completing a chapter on “Family and Friends” 
Chetan decides to take a Unit test of students.

	 Which of the following statements is the most 
suitable objective of taking this test?
(A)	Assessment of students progress.
(B)	Assessment of students learning.
(C)	Informing parents about students progress.
(D)	Declaring students pass or fail.
(1)	 A, B & D	 (2)	 A, B & C
(3)	 B, C & D	 (4)	 A, C & D

80.	 William , a teacher wants to set up a Bird watching 
club for his class. Whom should he appoint as leader 
of this club ?
(1)	 To the student who gains highest marks in class.
(2)	 To most notorious student of class.
(3)	 Form small groups and ask them to select leaders.
(4)	 He should declare himself leaders.

81.	 While discussing chapter ‘Food’, Gurpreet asks 
questions to students, such as “Who eats last in your 
family ? Who buys the vegetables ? Who cooks the 
food in your family ?” She is trying to discuss on 
which of the following issue of EVS ?
(A)	Eating habits of family.
(B)	Family should eat together.
(C)	Role of family members in cooking food.
(D)	Challenge gender roles in family.
(1)	 A & D only	 (2)	 B & C only
(3)	 C & D only	 (4)	 A , B , & C only

82.	 Shyam informs his teacher in an online class that 
he was asked by his father to provide food to the 
neighbouring poor children during Covid lockdown. 
This behaviour of Shyam will be recorded in which 
of the following tools to assess co-scholastic aspect?
(1)	 Observation schedule	(2)	 Rating scale
(3)	 Anecdotal Record	 (4)	 Portfolio

83.	 Iqbal , a student of Geeta’s class is visually impaired. 
Geeta observes that he is not coming to school 
since past few days. On talking to his parents, she 
finds that Iqbal is finding difficulty to see what is 
written on the board and also not able to participate 
in classroom processes. What should Geeta do to 
motivate Iqbal to attend school?
(1)	 Allow him to learn from home.
(2)	 Ask his parents to consult a doctor.
(3)	 Plan a classroom play with a role to play for 

Iqbal.
(4)	 Make Iqbal sit in the front seat.

84.	 Rishi is planning to teach, “Things that we make 
and do”. He wants to discuss how silk is produced. 
Which of the following is the most suitable strategy 
for this?
(1)	 Classroom discussion.
(2)	 Inviting expert lecture.
(3)	 Documentary presentation.
(4)	 Visit to a sericulture Unit.

85.	 An EVS Teacher must
(1)	 construct curriculum	 (2)	 follow curriculum
(3)	 transmit curriculum	 (4)	 implement curriculum

86.	 There are no text books of EVS for classes I & II. This 
is because:
(1)	 Environmental concepts are difficult to teach 

students of these classes.
(2)	 Environmental components have been integrated 

with Language and Mathematics.
(3)	 This has been done to reduce the burden of 

teachers and students.
(4)	 The curriculum lays emphasis on moving beyond 

the text books.
87.	 Ramesh plans a play for the class V as the method 

for teaching ‘Animals’. What should he do ?
(1)	 Select an already written play & direct it.
(2)	 Write the play himself & direct it.
(3)	 Ask students to write the play & enact.
(4)	 Search for an already enacted play.
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88.	 During discussing ‘water’, Shivangi asked her 
students of class I to draw sky. Sam coloured sky 
green. On asking why he has chosen this colour , he 
replied the pond near his home is green and since 
water comes from sky, sky must be green. Shivangi 
must
(1)	 Appreciate his creativity.
(2)	 Tell him that the sky is blue.
(3)	 Arrange sky observation.
(4)	 Tell him that the sky is black.

89.	 Formative assessment for EVS is
(A)	Assessment for learning
(B)	Assessment of learning
(C)	Assessment as learning
(D)	Assessment about learning
(1)	 A & C Only	 (2)	 A, B & C
(3)	 B and C only	 (4)	 B, C & D

90.	 Which of the following tool can be used for formative 
assessment in E.V.S ?
(1)	 Peer assessment	 (2)	 Self assessment
(3)	 Observation	 (4)	 Annedotal record

Language: English

Directions (91-99): Read the passage given below and 
answer the questions that follow by selecting the correct/most 
appropriate options.
(1)	 The monthly report card in school would make 

some children gloat and others weep. I did neither. I 
just took it because I saw it as a transaction between 
my teacher and my father! Reading it always made 
my father blow up. The teacher must have said 
something not so nice. But I was unconcerned. I had 
too much else going on that interested me.

(2)	 The alarming increase in student suicides today 
is because we have created a society founded on 
the premise that life is a race. So you rush to the 
finishing line! Is it any wonder that so many choose 
to end their lives? This is the self-destructive model 
we have created for ourselves.

(3)	 If our joy is about being better than someone else, it 
is not success; it is sickness. To reap the benefits of 
someone else's failure is a tragic way to live.

(4)	 Each individual is born with a particular kind of 
genius. Education should create the right atmosphere 
to allow that genius to flower to its optimal potential.

(5)	 A student asked, how to live in an increasingly 
competitive and ambitious world. I told him, 
whether, knowledge, power, love or fame, you are 
essentially trying to experience a little more of life 
than you have now. The man going to the bar and 
the man going to the temple are seeking the same 
thing! They are looking for fulfilment, but through 
different means. Both want an experience of life 
that is a little more intense and pleasurable than it is 
currently.

(6)	 At present, the stimuli are outside. But once you 
know that the source of both pleasure and pain, 
agony and ecstasy are within you, why would you 
outsource it? Why would you export it to alcohol or 
heaven or to some authority figure?

91.	 Which of the following is FALSE?
	 The author was unconcerned about his report card 

because:
(1)	 his teacher seemed to be satisfied
(2)	 he believed it was something between his father 

and his teacher.
(3)	 he was occupied with other things which 

interested him.
(4)	 the report would make his father flare up.

92.	 According to the author competition based learning
(1)	 is not appreciated by parents.
(2)	 is needed by students.
(3)	 leads to overall development.
(4)	 is self-destructive.

93.	 Which of the following statements is NOT true?
	 Our students miss out on the joy of learning because:

(1)	 they want to outperform others.
(2)	 they love to study books.
(3)	 their focus is only on studies.
(4)	 they think life is a race.

94.	 The role of education, according to the author, 
should be
(1)	 to help talented students to realise their full 

potential.
(2)	 to equip students with useful skills.
(3)	 to sharpen the competitive ability of the students.
(4)	 to build the character of the students.

95.	 Read the sentences given below:
A.	 We all look for fulfilment in our own way.
B.	 The source of both pleasure and pain is within 

us.
(1)	 Both A and B are true
(2)	 Only A is true
(3)	 Both A and B are false
(4)	 Only B is true

96.	 Which one of the following words is similar in 
meaning to the word, ‘alarming’ as used in the 
passage? (para 2)
(1)	 disgusting	 (2)	 disappointing
(3)	 disheartening	 (4)	 disturbing

97.	 Which of the following words is most opposite in 
meaning to the word, ‘particular’ as used in the 
passage. (para 4)
(1)	 random	 (2)	 general
(3)	 peripheral	 (4)	 integral

98.	 Which part of speech is the underlined word in the 
following sentence?

	 “It was a transaction between my teacher and my 
father”.
(1)	 Adjective	 (2)	 Conjunction
(3)	 Preposition	 (4)	 Pronoun

99.	 Which part of the sentence given below contains an 
error?
Reading it

(a)  
always made

(b)  
my father

(c)  
to blow out

(d)
(1)	 b	 (2)	 a
(3)	 d	 (4)	 c
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Directions (100-105): Read the extract given below and answer 
the questions by selecting correct/most appropriate options.
1.	 Oft I had heard of Lucy Gray,
	 And when I crossed the wild
	 I chanced to see at break of day
	 The solitary child.
2.	 No mate, no comrade Lucy knew;
	 She dwelt on a wild moor,
	 The sweetest thing that ever grew
	 Beside a human door!
3.	 You yet may spy the Fawn at play,
	 The Hare upon the green;
	 But the sweet face of Lucy Gray
	 Will never more be seen.
4.	 “Tonight will be a stormy night,
	 You to the town must go,
	 And take a lantern, Child to light
	 Your Mother thro, the snow.”
100.	Complete the following sentences:
	 The poet had ............... heard of Lucy Gray.

(1)	 seldom	 (2)	 often
(3)	 rarely	 (4)	 never

101.	The poet ‘chanced to see’ Lucy
(1)	 at noon	 (2)	 at dusk
(3)	 in the afternoon	 (4)	 at dawn

102.	The poet calls Lucy Gray a solitary child because:
(1)	 she is shy by nature.
(2)	 her parents had kept her apart from others.
(3)	 she has no friend, no companion.
(4)	 she is an introvert.

103.	Lucy’s father asked her to take a lantern with her 
because
(1)	 the moor was interested with snakes.
(2)	 it was going to be a stormy night.
(3)	 the way to the town was not safe.
(4)	 she might encounter robbers.

104.	What rhyme scheme has been used in the first stanza 
of the extract?
(1)	 ab, ac	 (2)	 aa, bb
(3)	 ab, ab	 (4)	 aa, aa

105.	Identify and name the figure of speech used in ‘to 
the town’ in stanza:
(1)	 simile	 (2)	 alliteration
(3)	 metaphor	 (4)	 hyperbole

106.	Graphology is the study of ............... .
(1)	 the graph system
(2)	 how words are pronounced and its graphical 

representation.
(3)	 writing system of a language and the conventions 

used in representing speech in writing.
(4)	 lexical items and how they are grouped together.

107.	The task and activities in language learning should 
............... .
(1)	 be based on the chapters of the textbooks only.
(2)	 be in simple language
(3)	 provide an opportunity of learning by doing.
(4)	 not be related to any concept of the textbook.

108.	The activities and exercises included in the textbook 
primarily aim at ............... .
(1)	 engaging students after school hours.
(2)	 enhancing language skills and vocabulary.
(3)	 developing taste for the textbooks reading.
(4)	 only transacting textual material in a language 

classroom.

109.	Every poem has a specific meaning and children 
love to read poems. What do you understand by this 
statement?
(1)	 Poet has written a poem with some meaning and 

every child must understand that meaning to 
enjoy it.

(2)	 Every child enjoys and understands the poem as 
per their background and experience.

(3)	 Finding different meanings for the same poem 
may hamper the reading process.

(4)	 Poems should be read to understand the specified 
meaning.

110.	Diagnostic assessment is part of ............... .
(1)	 Summative assessment
(2)	 Formative assessment
(3)	 Both summative and annual assessment
(4)	 Assessment of learning

111.	Which approach basically promotes fluency?
(1)	 Structural approach
(2)	 Communicative approach
(3)	 Behaviouristic approach
(4)	 Grammar translation approach

112.	Which one of the following would you adopt in 
your language classroom to enhance critical thinking 
among the learners?
(1)	 Read aloud the textbook in the classroom.
(2)	 Write the answers to the questions on the 

blackboard.
(3)	 Giving situations and asking them to discuss and 

solve them among the group.
(4)	 Organising a handwriting competition.

113.	Which one of the following refers to deducing 
meaning from the clues available in the text?
(1)	 Inferential	 (2)	 Global
(3)	 Local	 (4)	 Transactional

114.	............... involves generating ideas, deciding on the 
form of the written text and also thinking about who 
will read it.
(1)	 Transcription	 (2)	 Composition
(3)	 Transactional	 (4)	 Connotation

115.	As a teacher you wish to enhance reading skill of 
your learners. To encourage them for self-reading, 
you will:
(1)	 ask the principal to arrange a period specifically 

for self-reading in the time-table other than the 
English periods.

(2)	 ask their parents to help them at home.
(3)	 talk to your learners about what they do and 

don’t like to read and also share your experiences 
with them giving examples.

(4)	 instruct them to read a book daily otherwise they 
will lose their grades.

116.	Comprehensible input refers to ............... .
(1)	 reading the text and comprehending it.
(2)	 reading the text giving input while summarising 

it.
(3)	 meaningful oral and written language slightly 

above the learner’s current level of mastery.
(4)	 meaningful oral and written language slightly 

below the learner’s current level of mastery.
117.	Apart from the four language skills which one of the 

following is also called a language skill?
(1)	 Study skill	 (2)	 Communication skill
(3)	 Thinking skill	 (4)	 Oral skill
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118.	Language normally used in informal conversation 
but not in formal speech or writing is called ............. .
(1)	 collocation	 (2)	 colloquial
(3)	 clue	 (4)	 chunk

119.	Prose does not include a
(1)	 play	 (2)	 novel
(3)	 poem	 (4)	 story

120.	When a writer describes an incident or a scene which 
had occurred in his life or any other persons’ life on 
the basis of memory, it is called ............... .
(1)	 character sketch	 (2)	 travelogue
(3)	 essay on experience	 (4)	 memoir

Language: Hindi

funsZ'k (121-128): fuEufyf[kr x|ka'k dks i<+dj iwNs x, ç'uksa ds 
lcls mi;qä mÙkj okys fodYi pqfu,µ

esjs fnekx esa ckr vk;h fd çsepan ds T+kekus esa vkpk;Z jkepaæ 'kqDy 
Hkh Fks vkSj çsepan us dHkh Hkh vkpk;Z 'kqDy dh rjQ ugha ns[kkA mudh 
T+k:jr ugha eglwl dhA
Q.kh'ojukFk js.kq ds T+kekus esa fgUnh dgkuh ds lcls cM+s vkykspd 
ukeoj flag Fksµ js.kq us mudh rjQ ugha ns[kkA eq>s vius fy, ,d 
nwljs vkykspd dh ryk'k djuh pkfg,] ftls ge ^lkekU; ikBd* 
dgrs gSaµ,slk eq>s yxkA ftls vke ikBd dgrs gSa] dkWeu jhMj ;k 
lkekU; ikBd dgrs gSa vkSj tks ys[kd mudh Le`fr;ksa esa vkSj tqcku ij 
jg tkrk gS] dksbZ Hkh vkykspd mls vuns[kk u djus ds fy, etcwj 
gksrk gSA rks eSaus ml lkekU; ikBd dks viuk vkykspd le>kA ckn ds 
fnuksa esa tks dqN Hkh fy[kk] eSaus ns[kk fd ml vke ikBd dh fnypLih 
mlesa gks jgh gSA
tc eSaus fy[kuk 'kq: fd;k Fkk] rks <sj lkjs yksx fy[k jgs Fks gekjs lkFk 
dsA fnYyh ds yksx] paMhx<+ ds yksx] bykgkckn ds dFkkdkj&ys[kd] 
tkyaèkj ds dFkkdkj] iVuk esa vkSj dydÙkk esa HkhA ysfdu T+;knkrj 
ys[kdksa dh uT+kj fnYyh ;k bykgkckn ds mu ys[kdksa ij jgrh Fkh] tks 
vkèkqfud ys[kd dgs tkrs FksA esjh Hkh dksf'k'k yxHkx oSlh gh Fkh fd 
vkèkqfud gks ldw¡ vkSj vkèkqfud ys[ku og Fkk] tks ijEijk ls foæksg 
dj ds fd;k tk jgk Fkk] ijEijk dks udkj dj fd;k tk jgk FkkA ge 
,slk ugha lksp jgs FksA dgha u dgha esjs Hkhrj yksd&ijEijk dfg, ;k 
çsepan dh ijEijkµog Fkh] ysfdu eSa oSlk fn[kuk pkg jgk Fkk tSlk os 
dg jgs Fks] fy[k jgs FksA
121.	buesa ls dkSu lcls cM+s vkykspd gSa\

(1)	 jkepaæ oekZ	 (2)	 çsepan
(3)	 Q.kh'ojukFk js.kq	 (4)	 ukeoj flag

122.	ys[ku us lkekU; ikBd dks ---------- dh laKk nh gSA
(1)	 dkWeu jhMj	 (2)	 vke ikBd
(3)	 vkykspd	 (4)	 etcwj

123.	ml T+kekus esa ys[kdksa dh uÛtj bykgkckn ;k fnYyh ds ys[kdksa 
ij jgrh Fkh] D;ksafdµ
(1)	 os çfrf"Br Fks	
(2)	 os iqjLÏr ys[kd Fks
(3)	 os loZJs"B ys[kd dgs tkrs Fks	
(4)	 os vkèkqfud ys[kd dgs tkrs Fks

124.	vkèkqfud ys[kd dh igpku gSµ
(1)	 ijEijkvksa dk fojksèk	 (2)	 vkèkqfud fopkj
(3)	 ijEijkvksa dk fuekZ.k	 (4)	 vkèkqfud ys[ku 'kSyh

125.	ys[kd us vuqPNsn esa Lo;a ds fdl }a} dh vksj ladsr fd;k gS\
(1)	 yksd ijEijk vkSj vkykspuk
(2)	 yksd ijEijk vkSj vkèkqfud ys[ku

(3)	 vkykspuk vkSj vkèkqfud ys[ku
(4)	 ijEijk] fonksg] udkjuk

126.	----------- 'kCn ds fy, ^vkèkqfud* fo'ks"k.k dk ç;ksx ugha gks 
ldrkA
(1)	 ys[kd	 (2)	 ikBd
(3)	 yksd ijEijk	 (4)	 thou 'kSyh

127.	dkSu&lk 'kCn O;fDrokpd laKk dk mnkgj.k ugha gSµ
(1)	 paMhx<+	 (2)	 fnYyh
(3)	 iVuk	 (4)	 jktèkkuh

128.	dkSu&lk 'kCn lewg ls fHkUu gS\
(1)	 fy[kuk	 (2)	 i<+uk
(3)	 fn[kuk	 (4)	 ns[kuk

funsZ'k (129-135): fuEufyf[kr x|ka'k dks i<+dj iwNs x, ç'uksa ds 
lcls mi;qDr mÙkj okys fodYi pqfu,µ

iwjs fo'o ds yk[kksa yksx fiNys dbZ o"kks± ls blh ç;kl esa layXu gSa 
fd lh[kuk lnk tkjh jgs vkSj lh[kus ds bl bYe ds lkFk lkjk 
lekt ltx vkSj lcy lekt ds :i esa fodflr gks ldsA lh[kus 
dh fujarjrk vkSj lh[kus dh lgtrk ds fj'rs dks ifjHkkf"kr djuk 
bl ç;kl dh igyh 'krZ Fkh] exj ge ,slk ugha dj ldsA igyh 
vko';drk rks ;gh Fkh fd lh[kus ds gj ç;kl dks çfrf"Br fd;k 
tkrk] mls eku fn;k tkrk] lEeku fn;k tkrk vkSj fQj tks Hkh lh[kus 
dh vksj ço`Ùk gksrk mls vkxs c<+us dk volj fn;k tkrkA lh[kus ds 
lkjs jkLrs [kksy fn, tkrsA exj ,slk ugha gqvkA geus lh[kus ds bYe 
dks u rks çfrf"Br fd;k vkSj u gh geus lh[kus dks LoèkeZ ekukA blds 
foijhr geus fl[kkus ds cM+s bartke fd, vkSj bu bartkeksa esa fl[kkus 
dk lkèku çcy gks x, vkSj lh[kus okyk xkS.k gks x;kA lh[kus okyk 
u dsoy xkS.k gqvk cfYd lkèkuksa ds vackj esa nck x;k] cgqr ihNs NwV 
x;kA ;g D;k gqvkµbldk fdlh dks irk Hkh ugha pyk!
okLrfodrk dqN vkSj Hkh gSA Hkkjrh; lekt dh vksj tc vkLFkkoku 
n`f"V ls ns[krs gSa rks ikrs gSa fd gj vkneh viuh vko';drk ds vuq:i 
dqN lh[k ysus vkSj dj ysus ds ç;kl esa fujarj tqVk gqvk gSA ;g 
mlds vfLrRo dk loky Hkh gS vkSj jksth&jksVh dk loky HkhA ftrus 
vkSj tSls dkS'ky dk fodkl gekjs lekt esa lgt :i ls gksrk jgk gS] 
oSlk dkS'ky fuekZ.k lEHkor;k vkSipkfjd f'k{kk laLFkkvksa ds cwrs dh 
ckr Hkh ugha FkhA
129.	Hkkjrh; lekt esa lh[kus dk lacaèk -------------- ls gSµ

(1)	 thou dh cqfu;knh vko';drkvksa	
(2)	 vè;;u ls tqM+h vko';drkvksa
(3)	 Lo;a vkSj nwljksa dh vfLerk	
(4)	 vfLrRo vkSj cqfu;knh vko';drkvksa

130.	ys[kd ds vuqlkj lh[kus ds lanHkZ esa dkSu&lh ckr mfpr ugha gSµ
(1)	 lh[kus dh fujarjrk	
(2)	 lh[kus dh lkèkuksa dks egÙo nsuk
(3)	 lh[kus ds i;kZIr volj nsuk	
(4)	 lh[kus esa lgtrk dk gksuk

131.	ys[kd us ------------------ dh lhekvksa dk mYys[k fd;k gSµ
(1)	 vkthou f'k{kk	 (2)	 vkSipkfjd f'k{kk
(3)	 vukSipkfjd f'k{kk	 (4)	 lrr f'k{kk

132.	lh[kus dh çfØ;k esa ---------- çeq[k gS vkSj ----------- xkS.kA
(1)	 lkèku] fo|ky;	 (2)	 fo|ky;] lkèku
(3)	 lh[kus okyk] lkèku	 (4)	 fujarjrk] lgtrk

133.	vuqPNsn esa -------- vkSj ---------- ds egÙo dk mYys[k fd;k x;k gSA
(1)	 lkèku] fujarjrk	 (2)	 lh[kuk] lh[kus okys
(3)	 lh[kus] lkèkuksa	 (4)	 ç;klksa] lkèkuksa



Paper-1: 2021 �  179

134.	^laLFkkvksa ds cwrs dh Hkh ckr ugha FkhA* okD; esa ^cwrs* 'kCn dk 
vFkZ gSµ
(1)	 lEeku	 (2)	 lkeF;Z
(3)	 vfLrRo	 (4)	 lans'k

135.	dkSu&lk 'kCn&lewg fo'ks"k.kksa dk 'kCn&lewg gS\
(1)	 ltx] lcy] vkLFkkoku	 (2)	 ltx] lcy lekt
(3)	 vkLFkkoku] çfr"Bk] çcy	 (4)	 çfr"Bk] lcy] ltx

136.	^ukfj;y okys vkSj Hkh[kw HkkbZ dh ckrphr dks vius ?kj dh cksyh 
esa fy[kksA* ;g ç'u --------- dks iksf"kr djrk gSA
(1)	 cksfy;ksa	 (2)	 cgqHkkf"kdrk
(3)	 Hkk"kk&ijh{kk	 (4)	 ys[ku&{kerk

137.	^D;k rqe vius vklikl dh ,slh txg lksp ldrs gks] tgk¡ cgqr 
'kksj gksrk gSA ml txg ds ckjs esa fy[kksA* ;g ç'uµ
(1)	 jkspd vkSj tfVy gSA
(2)	 cPpksa dh tkudkjh dh ijh{kk ysrk gSA
(3)	 ikB dks cPpksa dh futh nqfu;k ls tksM+rk gSA
(4)	 ikB dks vU; fo"k;ksa ls tksM+rk gSA

138.	^Hkk"kk&vtZu {kerk*µ
(1)	 tUetkr gksrh gS	 (2)	 vftZr dh tkrh gS
(3)	 lh[kh tkrh gS	 (4)	 lç;kl gksrh gS

139.	çkFkfed Lrj ij Hkk"kk&f'k{k.k dk mís'; ugha gSµ
(1)	 iwoZ vftZr dkS'kyksa dk mÙkjksÙkj fodkl djuk
(2)	 eq[; fopkj dks <w¡<+us ds fy, i<+uk
(3)	 fo"k; lkexzh ds ekè;e ls u, 'kCnksa ds vFkZ tkuuk
(4)	 O;kdj.k dh ifjHkk"kkvksa dks daBLFk djuk

140.	çkFkfed Lrj ij Hkk"kk dh ikB~;&iqLrd cukrs le; vki fdl 
fcUnq ij lokZfèkd cy nsaxs\
(1)	 Hkk"kk dh ljyrk	 (2)	 Hkk"kk dh jaxrsa
(3)	 çfl¼ lkfgR;dkj	 (4)	 ikBksa dh la[;k

141.	dgkuh i<+rs le; ,d f'k{kd ds :i esa vki fdl fcUnq ij 
lokZfèkd è;ku nsaxs\
(1)	 rst xfr ij	 (2)	 Hkkokuqlkj iBu ij
(3)	 cPpksa ds iBu ij	 (4)	 d{kk ds vuq'kklu ij

142.	^iBu ds }kjk KkuktZu ,oa vkuan çkfIr esa leFkZ cukuk* çkFkfed 
Lrj ij Hkk"kk f'k{k.k dkµ
(1)	 ,dek= mís'; gSA	
(2)	 ,d egÙoiw.kZ mís'; gSA
(3)	 lokZfèkd egÙoiw.kZ mís'; gSA
(4)	 lcls de egÙoiw.kZ mís'; gSA

143.	ys[ku dkS'ku esa lokZfèkd egÙoiw.kZ fcUnq gSµ
(1)	 v{kjksa dh cukoV	 (2)	 ek=kvksa dk Kku
(3)	 fopkj	 (4)	 lqanj ys[ku

144.	ekSf[kd vfHkO;fDr ds fodkl esa lokZfèkd egÙoiw.kZ gSµ
(1)	 ckrphr	 (2)	 dgkuh dguk
(3)	 dfork ikB	 (4)	 lekpkj okpu

145.	ok;xksRLdh ds vuqlkj cPps ------------ ls lh[krs gSaA
(1)	 Jqfrys[k lacaèkh dk;Z	 (2)	 ikB~;p;kZ lgxkeh fØ;kvksa
(3)	 lkekftd var%fØ;k	 (4)	 nwljksa dk vuqdj.k djus

146.	cPpksa dh dYiuk'khyrk vkSj l`tukRedrk dk fodkl djus dh 
n`f"V ls dkSu&lk fo"k; lokZfèkd mfpr gS\
(1)	 Lora=rk fnol	 (2)	 tc fctyh pyh xbZ
(3)	 x.kra= fnol	 (4)	 cky fnol

147.	ikB ds lanHkZ esa gh lgt :i ls vk, O;kdjf.kd fcUnqvksa dks 
mlh lanHkZ esa Li"V djuk ------------- dgykrk gSA
(1)	 lw= ç.kkyh	 (2)	 ikB~;&iqLrd ç.kkyh
(3)	 ikB esa O;kdj.k	 (4)	 lanHkZ O;kdj.k

148.	fo|kFkhZ fo'ks"k dh leL;k dks igpkudj mlds vuqlkj f'k{k.k 
fofèk esa lqèkkj ------------- dk ,d egÙoiw.kZ vax gSA
(1)	 iksVZQksfy;ks	 (2)	 tk¡p&lwph
(3)	 ijh{kk	 (4)	 vkdyu

149.	fy[kus esa dfBukbZ gksuk --------------- ls lac¼ gSA
(1)	 fMLysfDl;k	 (2)	 fMLxzkfQ;k
(3)	 fMLdsydqfy;k	 (4)	 vÝsft;k

150.	Hkk"kk lh[kus esa lokZfèkd egÙoiw.kZ gSµ
(1)	 Hkk"kk f'k{kd	 (2)	 ikB~;&iqLrd 
(3)	 vkdyu dh tfVyrk	 (4)	 Hkk"kk le`¼ ifjos'k
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1.	 Option (2) is correct.
Explanation: As Bloom advocates, 
the cognitive domain involves 
knowledge and the development 
of intellectual skills, which includes 
recognizing specific facts, procedural 
patterns, and concepts that develop 
intellectual abilities and skills.
Forming, storing and recalling 
memories are critical components of 
cognition. 
Hence, the cognitive domain relates 
to intellectual abilities such as 
attention, memory, problem-solving, 
imagination and creativity. 

2.	 Option (3) is correct.
Explanation: According to the 
proximodistal principle, the 
development proceeds outward 
from the body’s center. The ability to 
use various body parts, such as mid-
body, grows before the extremities of 
the arms and legs.
For example, infants use their arms 
before they can use their fingers 
effectively.
Hence, Sana holding a glass and 
a bottle before holding a pen or 
buttoning her shirt indicates that the 
development direction is proximo-
distal.

3.	 Option (4) is correct.
Explanation: Heredity and 
environment are vital in determining 
an individual’s development. 
The development depends on 
the environment, but the pace of 
development depends on heredity.
Hence, the development of children 
is a result of the interaction between 
heredity and the environment.

4.	 Option (4) is correct.
Explanation: Primary agents of 
socialization are the most important 
as they are the first step of learning 
in a child’s life: his family.
Peers, schools, and the mass 
media are the secondary agents of 
socialization. These agents interact 
impersonally to perform specific 
tasks like learning institutions, the 
Government, media, peer groups 
and the workplace.
Hence, the Government is a 
secondary agent of socialization.

5.	 Option (1) is correct.
Explanation: Morality is the 
difference between right and wrong. 

Moral development is the process in 
which a person can judge between 
good and evil based on ethics and 
principles that exist in society. 
Kohlberg emphasizes that this is 
a continual process that occurs 
throughout the lifespan. 
For example, the Heinz Dilemma in 
his theory is about a person named 
Heinz whose wife had cancer. Her 
doctors said that the local pharmacist 
had the only drug that might save 
her, and he sold it at a very high 
price as it was an expensive drug. 
Heinz tried to negotiate, but after 
failing to pay the price, he stole 
the drug from the pharmacy. The 
question raised by Kohlberg was 
if Heinz did the right thing. The 
justification could be as follows:
As her husband, Heinz must save 
his wife’s life, so he should steal the 
drug. However, stealing is unethical, 
so Heinz should accept the penalty 
for breaking the law.
Hence based on children’s response 
to Heinz’s dilemma, Kohlberg has 
proposed Moral development. 

6.	 Option (3) is correct.
Explanation: In the concrete-
operational stage, according to 
Piaget, thinking is characterized 
by logical operations, such as 
conservation, reversibility or 
classification and allowing logical 
reasoning. A child can use logic 
in solving problems involving the 
physical world. For example, the 
child can understand the principles 
of cause and effect, size, and 
distance.
Hence, by classifying buttons accord-
ing to their size and redistributing 
them based on the number of holes, 
Leela is at the Concrete operational 
stage of development.

7.	 Option (1) is correct.
Explanation: Assimilation: Jean 
Piaget described how one adds 
information or experiences into 
existing structures of knowledge or 
schemas. As the current information 
blends with the new, a child 
expands or modifies their schemas, 
but they does not fundamentally 
change how the schema is 
organized. Thus, assimilation is the 
cognitive process of blending newly 
acquired information into existing 
cognitive schemas, perceptions, and 
understanding. This integration 
does not alter the existing beliefs. 

Hence, assimilation occurs when 
children transform their experiences 
to fit into their existing schemes.

8.	 Option (3) is correct.
Explanation: Vygotsky’s social 
development theory emphasizes 
that social interactions can shape a 
child’s cognitive development and 
learning ability. His sociocultural 
theory states that “learning is a 
crucially social process as opposed 
to an independent journey of 
discovery.”
His theory emphasized:
(i)	 significance of culture in 

learning.
(ii)	 language is the root of culture.
(iii)	 a person learns and develops 

within their community role.
Hence, according to Vygotsky’s 
sociocultural theory, children’s 
learning occurs in a social context.

9.	 Option (3) is correct.
Explanation: Theorists applied 
Vygotsky’s zone of proximal 
development (ZPD) theory in the 
classroom to practice scaffolding 
in learning. Scaffolding is the help/
support (provided by the teacher) in 
the zone of proximal development, 
that is the gap between what a 
learner can do independently and 
what they can achieve with help. As 
the child begins to learn and master 
the skill, the support provided by 
the teacher decreases. Eventually, 
the child can begin to do the task on 
their own.
Hence, when a teacher adjusts the 
support offered to the child to fit the 
child’s current level of performance 
and help her to reach her zone of 
proximal development, the teacher 
is scaffolding the child.

10.	 Option (3) is correct.
Explanation: Progressivists believe 
people learn best from the facts 
most relevant to their lives. Hence, 
the curricula are planned based 
on student’s needs, experiences, 
interests, and abilities.
In a progressive classroom based 
on exploration and experience, 
teachers act as facilitators, and 
students explore their physical, 
mental, moral, and social growth. 
To facilitate learning, the teacher 
may include small groups debating, 
custom-made activities, and learning 
stations.
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Hence, in a progressive classroom, 
learners play an active role in their 
learning.

11.	 Option (1) is correct.
Explanation: Interpersonal Intelli-
gence enables one to communicate 
with others through verbal and 
nonverbal communication effectively. 
It is the ability to be distinctive and 
sensitive about others’ feelings and 
temperaments and to entertain 
multiple perspectives.
People with good Interpersonal 
(social) Intelligence:
n	 Listen carefully to others.
n	 Start conversations with strangers 

quickly.
n	 Have a large circle of friends.
n	 Make introductions between 

people.
n	 Influence others easily.
n	 Think mainly in terms of other 

people.
n	 Understand people’s motivations.
Hence, Interpersonal Intelligence 
refers to the ability to recognize and 
respond appropriately to the moods, 
temperaments and intentions of 
others.

12.	 Option (1) is correct.
Explanation: National Education 
Policy 2020 states (in quotes below):
“Built on the foundational pillars of 
Access, Equity, Quality, Affordability 
and Accountability, this policy is 
aligned to the 2030 Agenda for 
Sustainable Development and aims 
to transform India into a vibrant 
knowledge society and global 
knowledge superpower by making 
both school and college education 
more holistic,”
As mentioned in para 4.11 of 
National Education Policy (NEP) 
2020, “wherever possible, the 
medium of instruction until at least 
Grade 5, but preferably till Grade 
8 and beyond, is to be the home 
language/mother tongue/local 
language/regional language.”

13.	 Option (4) is correct.
Explanation: Gender stereotyping 
refers to ascribing roles based on 
gender. (Men and Women).
Gender stereotyping in a school 
environment can affect a young 
person’s classroom experience, 
academic performance, subject 
choice and well-being.
Hence, a school giving preference 
to boys for badminton competitions 
and girls for music competitions is 
an example of gender stereotyping.

14.	 Option (1) is correct.
Explanation: Features of Continuous 
and Comprehensive Evaluation 
(CCE):
(i)	 Planning on Parameters and 

Tools of Evaluation: This is a 
key aspect of CCE. Educators 

define various parameters 
and choose appropriate 
tools for assessing students' 
performance, which helps in a 
comprehensive evaluation of 
their skills and knowledge.

(ii)	 Meticulous Record Keeping 
by the Teacher: CCE involves 
maintaining detailed records 
of a student's progress, 
strengths, and areas needing 
improvement. This information 
helps teachers provide targeted 
support and monitor each 
student's development over 
time.

(iii) Integration with the Teaching-
Learning Process: CCE is 
not just about assessing after 
teaching; it's about incorpora-
ting evaluation into the 
teaching-learning process 
itself. Regular assessment helps 
teachers adjust their teach-
ing methods to better suit 
individual student needs.

15.	 Option (3) is correct.
Explanation: NEP-2020 focuses on – 
regular, formative and competency-
based assessment, “promoting 
learning and development of 
students and testing higher-order 
skills (analysis, critical thinking and 
conceptual clarity etc.).” 
The goal of NEP-2020 is to transform 
the culture of assessment. “It enables 
teachers to use various learning 
techniques and experiments.”
It gives students the freedom 
to choose any subject or stream 
without restrictions. 
NEP 2020 emphasizes the overall 
development of the education 
system.

16.	 Option (3) is correct.
Explanation: The RPWD Act 2016 
provides that (in quotes) “the 
appropriate Government shall 
ensure that the PWD enjoy the right 
to equality, life with dignity, and 
respect for his or her own integrity 
equally with others.” 
“Disabled persons have the right to 
economic and social security and to a 
decent level of living. “They have the 
right, according to their capabilities, 
to secure and retain employment or 
to engage in a useful, productive 
and remunerative occupation and to 
join trade unions.”

17.	 Option (4) is correct.
Explanation: Diversity adds new 
perspectives to a classroom. Students 
of different genders, races, and 
backgrounds bring multiple insights 
and thoughts into a classroom which 
can add well-shaped views and can 
help students learn more from each 
other.
Culturally responsive teachers 
help to connect the students to 

learn cultures, languages, and life 
experiences which helps them 
understand rigorous curriculum 
and develop higher-level academic 
skills. In addition, teachers provide 
opportunities for choice in classroom 
activities, encourage child-directed 
learning, and assist students as they 
engage in these activities.

18.	 Option (1) is correct.
Explanation: Gifted students can 
understand material several grade 
levels above their peers and have 
surprising emotional depth and 
sensitivity at a young age.
A strong sense of curiosity and 
enthusiasm about unique interests 
and topics guides them.
They have a mature sense of 
humour.
Hence, the characteristics that define 
gifted students are that they learn 
rapidly and retain, are alert, keenly 
observant and respond quickly.

19.	 Option (4) is correct.
Explanation: A practical pedagogical 
approach to severely visually 
impaired students includes the 
following:
n	 Use of many touches and feel 

materials.
n	 Use of three-dimensional maps 

and charts.
n	 Verbal clues to create opportuni-

ties to imagine.
n	 Introduction of tactile materials 

such as felt books and felt boards.
Hence, using computers is not an 
effective pedagogical method for 
severely visually impaired students.

20.	 Option (1) is correct.
Explanation: Learning is meaningful 
when the individual completely 
comprehends a concept or a fact, 
and that specific fact relates to other 
stored facts in the brain.
Characteristics of meaningful learn-
ing:
n	 Discourage Rote Memorization. 
n	 Encourage Self-Testing. 
n	 Students should get the oppor-

tunity to figure out the problem. 
n	 No harsh punishment for errors.
Hence, the teacher should provide 
diverse learning opportunities to all 
children since all children have the 
potential to learn.

21.	 Option (4) is correct.
Explanation: In an “external 
locus of control,” students believe 
their successes or failures result 
from external factors (luck, fate, 
circumstance, injustice, bias, 
or teachers who are unfair or 
prejudiced) beyond their control. 
When locus of control is external a 
person blames the outcome on fate, 
luck, or happenstance. The locus of 
control is internal when a person 
believes his actions determine the 
outcome.
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22.	 Option (3) is correct.
Explanation: Progressive learning 
helps students build their problem-
solving acumen and communication 
skills by following their questions 
and collaborating with peers and 
teachers.
Methods of arranging the material 
to encourage exploration:
Teaching Learning materials should 
be arranged to generate knowledge 
through direct experiences and 
collaboration.
Children should be encouraged to 
learn from their mistakes. 
Teachers should foster skill-oriented 
learning. 
A teacher should create a culture of 
mutual respect. 
Moreover, they should base their 
teaching on real-life problems to 
support understanding.
Various assessment methods can 
help students understand concepts 
deeply instead of rote memorization 
and reproducing it on an exam.
Thus, putting students of the 
same ability in one group does not 
facilitate progressive learning as it 
defies the principle of cooperative 
learning in a progressive classroom.

23.	 Option (4) is correct.
Explanation: Reciprocal 
Questioning: Reciprocal Questioning 
is a cooperative learning strategy. In 
this strategy, students take on the 
role of the teacher by formulating 
their list of questions about a reading 
selection.
For example, a teacher could have 
their students read chapter one of 
a textbook and ask them to write a 
summary of the text and compile 
questions for class discussion.

24.	 Option (2) is correct.
Explanation: Both of the teachers 
are employing constructivism in 
their classroom. This educational 
philosophy centers on active 
participation and interaction, 
allowing students to construct 
knowledge through real-world 
experiences and collaborative 
exploration. Mohan's use of 
containers with different capacities 
enables students to grasp the 
concept of volume through hands-
on experimentation. Similarly, 
Farah's approach of having students 
brainstorm mechanical waste 
disposal methods encourages critical 
thinking and problem-solving, 
empowering them to create their 
own solutions rather than passively 
receiving information.

25.	 Option (1) is correct.
Explanation: The correct option is 
Both (A) and (R) are true and (R) 
is the correct explanation of (A). It 
is important to address the socio-
emotional needs of students in 
an educational setting apart from 
academic learning. This is because 

emotions indeed play a significant 
role in cognition. Emotions can 
influence how students perceive, 
process, and retain information, 
impacting their overall learning 
experience and outcomes. Therefore, 
recognizing and addressing socio-
emotional needs can enhance 
students' cognitive development 
and overall well-being.

26.	 Option (3) is correct.
Explanation: Errors indicate to the 
teacher what students are thinking 
and what diverts them from the 
correct solution. Understanding 
students’ mistakes can help the 
teacher focus on the aspects of the 
to-be-learned concepts that need to 
be clarified.
When making errors, students 
can better assimilate information 
according to their needs and learning 
styles. Therefore, teachers should 
allow students time to practice 
instead of rote memorization.

27.	 Option (1) is correct.
Explanation: Metacognition 
helps form autonomous students, 
increasing consciousness about 
their cognitive processes and self-
regulation so that they can regulate 
their learning and transfer it to any 
area of their lives.
Critical and Reflective are a set 
of abilities that help students 
examine their thinking and others, 
like making judgments based on 
reasoning, where students consider 
options, analyze options using 
specific criteria, and conclude.
Reflective thinking helps to develop 
a questioning attitude and new 
perspectives and helps identify 
areas for change and improvement.

28.	 Option (3) is correct.
Boredom disengages many learners 
from educational activities, seriously 
decreasing their abilities to acquire 
knowledge. In addition, students 
who feel bored often lose interest 
in the material covered, disrupt the 
pace of the class, and interrupt other 
learners.
In order to prevent boredom, a 
teacher should:
n	 Add an Activity to Spur 

Creativity.
n	 Give short breaks for healthy 

snacks.
n	 Motivate Students to Cultivate 

Positive Habits.
n	 Vary the Routines.
Hence, In this situation, Anita 
should reflect on the content of the 
lesson and method of teaching.

29.	 Option (3) is correct.
Explanation: Intrinsic motivation is 
an inner feeling where an internal 
desire drives a person’s behaviour.

It creates more sustained interest, 
excitement, confidence, persistence, 
self-esteem and performance. 
To motivate a student intrinsically:
n	 Empower students with a feeling 

of conscious choice. 
n	 Set a greater goal. 
n	 Reinvent the system of rewards. 
n	 Forget negative motivation. 
n	 Beef up learners’ self-esteem. 
n	 Provide honest and instructive 

feedback. 
n	 Encourage collaboration.

30.	 Option (3) is correct.
Explanation: The pace of learning 
means to learn at a pace equivalent to 
one’s capabilities about their interest 
which provide an appropriate level 
of challenge. 
The personal factors that influence 
the pace of learning are Intelligence, 
age and maturation, motivation, 
sensation and perception, fatigue 
and boredom, emotional condition, 
needs and interests, attention, 
aptitude and attitude. In addition, 
the environment or the immediate 
surroundings with which the 
individual continuously interacts 
decides the pace of learning.

Mathematics
31.	 Option (2) is correct.

Explanation: Number of pebbles 
distributed by Anju, to her class is:

For group 1		  = 1
5

th be pebbles

For group 2		  = 1
4

th be pebbles

For group 3		  = 1
3

rd be pebbles

Number of pebbles left with her		
			   = 26
Let the total number of pebbles		
			   = x
According to question,

⇒
	

x x x x� � ��
��

�
��

1
5

1
4

1
3 	

= 26

⇒
	

x
x x x

�
� ��

��
�
��

12 15 20
60 	

= 26

⇒
	

x
x

� �
�
�

�
�
�

47
60 	

= 26

⇒
	

60 47
60

x x−

	
= 26

⇒
	

13
60

x

	
= 26

⇒		  x	 = 26 60
13
×

So,		  x	 = 120
The minimum number of peebles 
she might have brought in her class 
was 120.

32.	 Option (2) is correct.
Explanation: Teacher is using 
activity based learning approach. 
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Here, by asking students to draw 
rectangle on sheet of paper without 
using any points she will able to 
teach inside and outside concepts, 
spatial understanding as students 
can visualize the shapes with points 
only but she cannot teach area of 
rectangle through this activity as 
number of points would help in 
determining the are of a 2D-figure.

33.	 Option (4) is correct.
Explanation: To calculate the 
number of tens, we divide the 
number with 10 i.e.

		

708
10 	

�

	 Quotient	 = 70
	 Remainder	 = 8
So, 10 is 70 times in the given 
number.
Hence, the number of tens in 708 is 
70.

34.	 Option (4) is correct.
Explanation: For a six digit number,
Digit at thousands place			 
			   = 4
Digit at tens place is double of 
thousands place
			   = 4 (2)
			   = 8
Digit at hundreds place is half of 
digit at thousands place		

			 
= 1

2
4×

 
= 2

Digit at units place is half of digit at 
hundreds place

			 
=

 

1
2  

× 2 = 1

Digit at ten thousand’s place is sum 
of digits at hundred and thousand 
place		  = 2 + 4 = 6
Digit at lakhs place is half the digit 
at ten thousands place			 

			 
=

 

1
2  

× 6 = 3

		  L	 TTh	T	 H	 T	 O
So, the number is	 3	 6	 4	 2	 8	 1

35.	 Option (4) is correct.
Explanation: 
LCM of 2, 3 and 7	= 42
For each time in arrangement, one 
mango was left
So, total mangoes	= 42 + 1 = 43
To arrange mangoes in group of 5, 
we have

			 
=

 

Total mangoes
5

			 
= 

43
5  

i.e.
 

40
5

3+

Remaining mangoes = 3
36.	 Option (3) is correct.

Explanation: For the sequence 0, 1, 
1, 2, 3, 5, 8, 13, 21, 34, ...
Pattern is	 0 + 1	 = 1
		  1 + 1	 = 2
		  2 + 1	 = 3
		  3 + 2	 = 5
		  5 + 3	 = 8
		  8 + 5	 = 13

		  13 + 8	 = 21
		  21 + 13	 = 34
So, next term will be	 34 + 21	 = 55

37.	 Option (2) is correct.
Explanation: 
Number of cows has Gopalji		
			   = 8
Amount of milk obtained everyday		
			   = 2 litres
Cost of 1 litre milk		  = ₹ 15
Number of days in month of June		
			   = 30
Total sale amount in June month	
	 = �Number of cows × amount 

of milk received everyday × 
cost of 1 litre milk × number 
of days in June

	 = 8 × 2 × 15 × 30
	 = 16 × 15 × 30
	 = ₹ 7,200
Gopalji should earn ₹ 7,200 in the 
month of June.

38.	 Option (3) is correct.
Explanation: 
Largest side  of rectangle (1)	
			   = 26 cm
Length of wire		  = 86 cm
Perimeter of rectangle		 = 2(L + B)
Or,		  86	 = 2(26 + B)

Or,		

86
2 	

= 26 + B

So,		  43	 = 26 + B
Or, 		  B	 = 43 - 26
 		  B1	 = 17 cm
Now,
Length of rectangle (2) is		
= 31 cm
Perimeter of rectangle		 = 86 cm
		  B2	 = Breadth

		

86
2 	

= 31 + B2

Perimeter of rectangle
	 = 2( Length + Breadth)
Perimeter/2
	 = Length + Breadth
		  43	 = 31 + B2
		  B2	 = 43 – 31
			   = 12 cm
Difference between the breadth of 
both the rectangle		  = B1 – B2
			   = 17 – 12
			   = 5 cm

39.	 Option (1) is correct.
Explanation: According to the 
observation of the students, they 
can easily identify rectangular shape 
and right angles in the objects. All 
the objects are similar to each other 
and also each of them is same in 
figure irrespective of their sizes.

40.	 Option (4) is correct.
Explanation: 
Time to leave home for school		
			   = 9:10 am
Total time taken to reach school		
			   = 20 minutes
For half way distance, Raghu goes 
home to school and back to home 
		  10 + 10	 = 20 min

Again goes back to school		
			   = 20 min
Total time taken by Raghu		
			   = 20 + 20
			   = 40 min
\	� Time taken to reach school 

from home
			   = 9:10 am + 40 min
			   = 9:50 am
The minute hand of the clock will 
be at 10.

41.	 Option (4) is correct.
Explanation: 
Dimensions of box A			 
	 = 20 cm × 10 cm × 6 cm
Dimensions of box B			 
	 = 15 cm × 9 cm × 10 cm
Dimensions of box C			 
	 = 11 cm × 11 cm × 10 cm
Dimensions of box D			 
	 = 6 cm × 4 cm × 10 cm
Total number of cubes			 
	 = 4000
Side of each cube			 
	 = 1 cm
Volume of cube 			 
	 = (side)³
		 = Length × Breadth × Height
		 = 1 cm × 1 cm × 1 cm
	 = 1 cm3

Volume of box A			 
	 = 20 × 10 × 6
		 = 1200 cm2

Volume of box B			 
		 = 15 × 9 × 10
		 = 1350 cm3

Volume of box C			 
	 = 11 × 11 × 10
		 = 1210 cm³
Volume of box D			 
	 = 6 × 4 × 10
		 = 240 cm3

42.	 Option (4) is correct.
Explanation: 
Capacity of water tank			 
			   = 500 litre
			   = 5,00,000 ml�
� [1 lt = 1000 ml]
Capacity of pots to be filled		
			   = 250 ml
Required number of pots			

			 
=  = 2000

500000
250

43.	 Option (3) is correct.
Explanation: Number series is 2, 0, 4, 
2, 6, 6, ....., 12, 10, .....
Here, the series follows the pattern 
for alternate number, there is an 
addition of 2 to get and for second 
alternate number. So, it is following 
table of 2.
	 +2	 +2	 +2	 +2
	 	 	 	
	 2	 0	 4	 2	 6	 6	 8 	 12	 10	 20
	 	 	 	
	 +2	 +4	 +6	 +8
Missing terms are 8 and 20.

44.	 Option (2) is correct.
Explanation:
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Median

	
=

thn ��
�
�

�
�
�

1
2  

term

	 Number of terms	 = 5 (odd number)
So, middle observation will be the 
answer after arranging numbers in 
ascending order.
		  2/3	 = 0.66
		  7/9	 = 0.77
		  17/21	 = 0.80
		  13/16	 = 0.81
		  21/25	 = 0.84
Fractions arranged in ascending 
order are as follows:

2
3

7
9

17
21

13
16

21
25

, , , ,

		  Median	 = 
( )5 1

2
��

�
�

�
�
�

th term

Or,		  Median	 =  (6/2)th term
So,		  Median	 = 3rd term

Middle term is
 

17
21

, so it is the 

median.
45.	 Option (1) is correct.

Explanation: 
Let the total number of children = x
Children who likes coffee = 20
Fraction of children who like coffee	

			 
= 

1
3

x

According to question

		

1
3

x 	 = 20

Or, 		  x	 = 20 × 3
		  x	 = 60
Now, number of children who like 
milk 

			   = 1
6  

× 60

			   = 10
\	 10 children like milk.

46.	 Option (1) is correct.
Explanation: According to Van-Hiele 
theory for primary classes there are 
two levels for how students learn 
geometry.
Level 1: Visualization
In this, students try to learn geometry 
by observing different objects. The 
students recognise different objects 
by their appearance.
Level 2: Analysis
The students learn parts and 
properties of geometrical figures. 

47.	 Option (2) is correct.
Explanation: Games and puzzles 
are effective strategies in teaching 
mathematics as they help to:
1.	 enhance conceptual under-

standing.
2.	 break monotony of boring 

classroom.
3.	 think creatively.
4.	 develop interest of the students 

for better learning.
48.	 Option (2) is correct.

Explanation: According to Zolton 
Dienes theory, the correct sequence 
of mathematics learning is:
1.	 Perceptual variability principle 

that ensures that different 
teaching aids should be used 
for same concept to make better 
teaching-learning experience.

2.	 Mathematical variability 
principle: It works upon 
principle that while teaching a 
particular topic, teacher should 
impart irrelevant facts also so 
that students can conclude for 
relevant variables.

3.	 Constructivity principle states 
that students must construct 
knowledge on their own while 
analysing activities and topics.

49.	 Option (4) is correct.
Explanation: Ismail, a mathematics 
teacher is following cyclic model 
of assessment in which periodic 
assessment are taken place for 
previous knowledge that will 
carry forward to new information. 
It ensures interrelation and 
interdependent curriculum. It also 
makes sure that every student has 
attained clarity about previously 
learned concepts.

50.	 Option (1) is correct.
Explanation: Rubric is a method to 
check about student’s performance. 
It is an assessment based on 
activities done by learners that 
reflects procedures, understanding, 
perception and learning outcomes. 
It can also be used for assessing 
learners by being comprehensive in 
nature.

51.	 Option (3) is correct.
Explanation: The purpose of word 
problems in mathematics curriculum 
is:
1.	 to relate topics to the real-life.
2.	 provide hand-on experiences.
3.	 student can use this knowledge 

in solving real-life problems.
52.	 Option (1) is correct.

Explanation: For pre-number 
concepts in young children, stages 
are as follows:
1.	 Classification: Here students 

identify different things and 
classify on the basis of their 
categories.

2.	 Patterns: Understanding of 
different shapes, patterns, lines 
are used for generalising.

3.	 One to one corresponding: To 
count the things according to 
the numbers should be done 
thoroughly with students.

53.	 Option (3) is correct.
Explanation: Features of 
mathematics textbooks at primary 
level are:
1.	 Concept should be presented 

from simple to complex.
2.	 Concept should be in a 

hierarchical manner.

3.	 Concept should be linked to 
higher classes.

4.	 Concept should real-life 
experience and needs.

54.	 Option (3) is correct.
Explanation: Manipulatives are 
objects that keeps students engaged 
in the activities while learning 
concepts. At primary level, they are 
helpful as:
1.	 they facilitate better grasp of the 

topics.
2.	 maintain interest of the students.
3.	 generate confidence in students.
4.	 make learning more enjoyable.

55.	 Option (3) is correct.
Explanation: As a reflective 
mathematics teacher, she should 
facilitate the child in understanding 
the process through place value 
system and regÙouping the numbers 
according to it. Real-life experiences, 
examples and manipulates can be 
useful in this.

56.	 Option (1) is correct.
Explanation: According to NCF, 
2005, teaching-learning in primary 
classes for mathematics should be:
1.	 taught in way that students can 

relate it to their own real-life.
2.	 taught integrating EVS and 

language with it.
3.	 not focussing on entire 

curriculum to be covered but on 
concept clarity.

4.	 to enhance cognitive abilities 
rather than rote memorization.

57.	 Option (1) is correct.
Explanation: Geogebra is a 
mathematics software that deals 
with interaction between geometry 
and algebra. It encourages students 
to use their creativity to solve 
questions and also can visualize the 
algebraic expressions on geometric 
spreadsheets.

58.	 Option (1) is correct.
Explanation: For the teaching of 
numbers from 1 to 9, following 
activities can be useful:
1.	 using one-to-one correspondence 

manipulative and asking students 
to count.

2.	 provide a number and asks 
student to collect objects 
associated with the number.

3.	 using flash cards.
59.	 Option (2) is correct.

Explanation: Both the students 
have done the answers correctly but 
using their own different algorithms. 
Teacher should give full marks to 
both of them as it will generate 
confidence among students to use 
their creativity and understanding 
to solve different questions. It also 
enhances logical thinking and 
promotes divergent thinking.

60.	 Option (4) is correct.
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Explanation: While introducing the 
concept of ‘similarity’, Ms. Kamala 
provided different things to cater 
the needs of all learners as for a 
activity based learning, teacher 
should make sure that every child 
could understand it and makes 
best use of the activity. It should 
be connected to the real-life. Every 
learner has a different learning style 
and individual different cognitive 
abilities which should be kept in 
mind while providing activities to 
the learners.

Environmental Studies
61.	 Option (3) is correct.

Explanation: 

To find (c), we know Pythagoras 
theorem i.e.
		  H2	 = P2 + B2

		  (c)2	 = (b)2 + (a)2

		  c2	 = 32 + 42

		  c2	 = 9 + 16
		  c2	 = 25
		  c	 = 5 km
(a) is showing north direction.
(b) is showing east direction.
To go the Y point to X point the 
direction is south west. Pythagoras' 
theorem states that, in a right-
angled triangle, the square of the 
hypotenuse side is equal to the sum 
of squares of the other two sides.

62.	 Option (4) is correct.
Explanation: 
l	 For Goa, located on west coast of 

India, people there like to eat sea 
fish cooked in coconut oil.

l	 For Kashmir, located in northern 
part of India, people like to eat 
fish cooked in mustard oil.

l	 For Kerala, located in southern 
part of India, people like to have 
boiled tapioca with any curry.

l	 For Hong-Kong, dishes are 
mostly prepared from snake. So, 
people there like to eat snake and 
snake soup.

Different regions have different 
food.
Depending on what grows easily 
at which place, different things are 
eaten at places.

63.	 Option (3) is correct.
Explanation: Chillis is a spice that 
generally brought in our country by 
the traders from South America.
Chillis are native to South America.

People have been cultivating and 
trading them for at least 6,000 years.
Chillis were brought from South 
America to India by the Portuguese 
through their trading colony of Goa.
Chillis belong to the genus Capsicum, 
a member of the nightshade family 
that includes tomatoes, potatoes and 
eggplants.

64.	 Option (1) is correct.
Explanation: Gujarat is a state in 
India. The neighboring states of 
Gujarat are Rajasthan, Maharashtra 
and Madhya Pradesh.
Gujrat lies in the western part of 
India.
It is surrounded by Pakistan in the 
northwest.
In the south, it is surrounded by the 
Arabian Sea.
It is landlocked by the three Indian 
states of Rajasthan, Madhya Pradesh 
and Maharashtra

65.	 Option (4) is correct.
Explanation: Owls have binocular 
vision i.e. eyes on front of their 
heads. They move their heads to see 
around and estimates distances to 
catch their prey.
Birds with eyes on the sides of their 
heads have a wide visual field.
It is useful for detecting prey.
Such birds can focus on two different 
things at a time.
When its eyes focus on two different 
things, it increases its range of 
vision.
They don't have to move their heads 
to look around.
They can see four times as far as we 
can.
Example: Kites, Eagles, Vultures.
​​Binocular vision
While those with eyes on the front 
of their heads have binocular vision.
Such birds can estimate distances 
when hunting.
When a bird focuses both eyes on an 
object, it can estimate the distance.
They must to move their heads to 
see around.
The binocular vision of birds makes 
them see distinctly.
Example: Owl, Crows, Doves, 
Peacock, Nightingales, Parrots, 
Pigeons, etc.
Owl:
An owl is a nocturnal bird, which 
means it sleeps during the day and 
is awake at night.
They have eyes on the front of their 
head.
Owls are carnivores.
They eat rodents, small and 
medium-sized mammals, insects, 
fish, and other birds.
Owls can rotate their neck back up 
to 270 degrees.

66.	 Option (2) is correct.
Explanation: Eagles, Kites and 
Vultures have monocular vision i.e. 
they can detect their prey easily as 
they have eyes on the sides of their 

heads. They can detect an object four 
times as far as humans can. They can 
focus on two things at a time.
While those with eyes on the front 
of their heads have binocular vision.
Such birds can estimate distances 
when hunting.
They must move their heads to see 
around.
The binocular vision of birds makes 
them see distinctly.
Example: Owl, Crows, Doves, 
Peacock, Nightingales, Parrots, 
Pigeons etc.

67.	 Option (3) is correct.
Explanation: Andaman island were 
hit by a tsunami in year 2004 in 
which several countries of South 
and Southeast Asia got struck by 
tsunami. It killed almost 2,25,000 
people across the country.
The Indian Ocean tsunami hit the 
coasts of several countries of South 
and Southeast Asia in December 
2004.
The tsunami and its aftermath were 
responsible for immense destruction 
and loss on the rim of the Indian 
Ocean.
On December 26, 2004, at 7:59 AM 
local time, an undersea earthquake 
with a magnitude of 9.1 struck off 
the coast of the Indonesian island of 
Sumatra.
Over the next seven hours, a 
tsunami, a series of immense ocean 
waves, triggered by the quake 
reached out across the Indian 
Ocean, devastating coastal areas as 
far away as East Africa.
Some locations reported that the 
waves had reached a height of 30 
feet (9 metres) or more when they 
hit the shoreline.
The tsunami killed at least 225,000 
people across a dozen countries, 
with Indonesia, Sri Lanka, India, 
Maldives, and Thailand sustaining 
massive damage.

68.	 Option (2) is correct.
Explanation: A sloth survives on 
the plant of the same tree on which 
it lives. They live for about 40 years 
and sleeps for almost 17 hours a day. 
Only once a week, they came down 
from tree to relieve themselves.
They maintain a low body 
temperature of about 86°F to 93°F.
They move in and out of the shade 
to regulate their body temperature.
The sloth eats the leaves of the same 
tree on which it lives.
It hardly needs anything else.
When it has eaten enough leaves 
from that tree, it moves to the 
nearby tree.

69.	 Option (1) is correct.
Explanation: Train boarded on 
12-10-2021 from Gandhidham fro 
Nagarcoil Departure
		  = 22:30 hours
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Arrives at Nagarcoil at
		  = �22:30 hours after 2 

days
Distance between Gandhidham and 
Nagarcoil		  = 2592 km

	Speed of train
	

= 
Distance

Time taken
Time from Gandhidham to Nagarcoil
		  = 24 hrs + 24 hrs
		  = 48 hours (2 days)

Average speed	 = 
 km

 hour
2592
48

		  = 54 km/hr.
For conversion of km/hr to m/sec, 

we multiply by
 

5
18

So, 	 54 × 5
18 	

= 15 m/sec.

70.	 Option (3) is correct.
Explanation: Ghana national park 
is located in Bharatpur district of 
eastern part of Rajasthan.
It is located in the Bharatpur district, 
the eastern part of Rajasthan.
Keoladeo attracts several migratory 
birds that make the region their 
breeding and wintering grounds.
It is a UNESCO World Heritage and 
also a Ramsar site.
The Siberian crane is one of the rare 
species that was spotted here till 
about the turn of the century.
Tigers are found in specially 
dedicated areas like Keoladeo Ghana 
National Park (in Rajasthan).

71.	 Option (2) is correct.
Explanation: People living in regions 
like Assam, deals with heavy rainfall 
so they make their houses on stilts 
such as bamboo pillars with sloping 
roofs. They do it to avoid flooding 
the house during rain and also 
interior of the homes are developed 
from wood only.
Every region has a different house.
The type of house depends on the 
climatic conditions in the region.
Houses are built specially to suit the 
needs of the people.

72.	 Option (2) is correct.
Explanation: Pitcher plant is found 
in the eastern states of our country. 
It is generally found in Meghalaya. 
Pitcher plant can trap and eat insects 
and even frog as their food. They are 
carnivorous plants that depend on 
other heterotrophs for their living.
Carnivorous plants obtain the 
essential nutrients from the 
heterotrophs.
These plants trap insects and obtain 
the nutrients which they do not get 
from the soil.
They are not called heterotrophs or 
consumers, because they only derive 
nutrients from insects.
These plants get energy from the 
process of photosynthesis.
Hence, they are both producers and 
carnivores.

73.	 Option (3) is correct.
Explanation: According to clinical 
pathology report,
Aarti and Naman both are suffering 
from anemia as their haemoglobin 
levels are very low. For girls, 
haemoglobin level should be in 
between 12-15 g/dl and for boys, it 
should be in between 12.7-17.7g/dl.
A disease is a condition that 
negatively affects the normal 
functioning of the cells, tissues, and 
organs.
It can be caused by germs, lack of a 
healthy diet, or may even be genetic

74.	 Option (4) is correct.
Explanation: Al-Biruni was the 
traveller from Uzbekistan who 
visited India more than a thousand 
years ago. We can learn a lot about 
history of India from his writings. 
He wrote about those things of our 
country that he found very different 
from the things in his own country, 
especially the ponds for storing 
water. A birth stamp was also 
released by the government in 1973.
Al-Biruni was born in 973, 
in Khwarizm in present-day 
Uzbekistan.
Al-Biruni carefully observed and 
noted down the details of all that he 
saw in numerous books.
He wrote especially about those 
things that he found very different 
from his own country, like 
architecture and people's lifestyles.

75.	 Option (3) is correct.
Explanation: Ronald Ross discovered 
that malaria is spread by female 
anopheles' mosquito. He peeped into 
the stomach of mosquito and proves 
the presence of malaria through 
them. Tablets made from quinine can 
be used as a treatment of the disease. 
He received the Nobel Prize in 1902.
He discovered the malarial parasite 
in the gastrointestinal tract of a 
mosquito in 1897.
He proved that malaria was 
transmitted by mosquitoes.
He further laid the foundation for 
the method of combating the disease.

76.	 Option (3) is correct.
Explanation: Formative assessment 
for EVS is about assessment of 
learners throughout the session. 
It is a continuous progressive 
examination of students where 
teachers assess them for what they 
have learnt and if there is a difficulty 
or mistakes, it can be corrected 
using appropriate remedy. It is the 
reflection of their own learning and 
making adjustments to get a better 
understanding of the concepts.
EVS at the primary level is not a 
single subject area. It is visualized as 
a composite study area that draws 
learning experiences from physical, 

biological, chemical social, cultural, 
and other dimensions of study.

77.	 Option (2) is correct.
Explanation: Field trip to a 
sericulture unit can be beneficial 
for students who are learning about 
silk as it will provide a hand-on 
experience to them which make 
good impact on their minds and will 
also retain for a much longer period. 
It will enhance the confidence of 
learners and generate curiosity to 
get more information about the 
topic.
Environmental studies aid children 
in comprehending how things work 
and interact in their environment. At 
the primary level, it is an integrated 
subject area that incorporates 
knowledge from science, social 
studies, and environmental 
education.
Its aim is to help children acquire 
a holistic or integrated view of the 
environment in which they live.

78.	 Option (4) is correct.
Explanation: Anecdotal records is 
the descriptive record of the students 
that contains all the specific details 
like behavior, interactivity, cognitive 
ability, scholastic, non-scholastic 
developments. For formative 
assessment in EVS, anecdotal 
records can be used for focusing 
on difficult areas of the learners 
and also providing appropriate 
assignments and tasks to with child 
can understood easily.

79.	 Option (2) is correct.
Explanation: To assess co-scholastic 
areas such as helping behaviour 
of Shyam, ancedotal record would 
be an effective tool. We can easily 
assess the behavioural pattern 
and recognise the learning gaps of 
children.
It helps in modifying the learning 
activities to improve student 
achievement.
The main purpose is to assess the 
student's learning and progress and 
make inferences about the learning 
and development of students.
To develop a deep understanding of 
children's knowledge understanding 
and what the teacher can do with 
their knowledge.
It serves as feedback for the students, 
teachers as well as parents.

80.	 Option (3) is correct.
Explanation: There is no prescribed 
textbook for EVS in class I and II as 
it is involved in integrated manners 
with language and mathematics. 
Students see the world holistically 
rather than dividing into different 
subject for content. It helps to 
lighten the curriculum load.
A leader can be defined as someone 
who can guide students through 
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the learning process in such a way 
that they can grasp and apply the 
knowledge they have gained with 
the help of a teacher.

81.	 Option (3) is correct.
Explanation: Gender issues have 
arisen due to the historical, cultural, 
and social domination of males over 
females. The gender-related issues 
must be understood in detail in the 
classrooms for minimizing the bias 
toward males in society.
Key Points
n	 Gender roles are based on 

norms or standards created 
by society. Masculine roles are 
usually associated with strength, 
duration, and dominance while 
feminine roles are associated 
with passivity, nurturing, and 
subordination.

n	 Gender roles in family- All of 
our interactions, especially in our 
families are shaped by gender 
roles. Gender roles have an 
impact on how partners handle 
household responsibilities, how 
family members communicate, 
and how parents engage with 
their children. The differences in 
how mothers and fathers raise 
their children can have an impact 
on a child's perception of gender 
roles.

n	 Gender role socialization is a 
process by which parents and 
caregivers mold their children's 
knowledge of gender roles. 
Gender role socialization affects 
all the families in different 
ways depending on the family's 
general structure, socioeconomic 
status, culture, and the children's 
age range.

n	 By discussing gender issues and 
roles in the classroom children 
will construct knowledge about 
gender bias and gender equality.

n	 If they eat together or if the 
mother eats the last, the teacher 
can challenge gender roles on 
getting this type of answer.

Hence, we conclude that Gurpreet 
is trying to discuss the role of family 
members in cooking food and 
challenge gender roles in the family.

82.	 Option (3) is correct.
Explanation: In environmental 
studies the thematic approach has 
been adopted instead of topics 
because
n	 it enables the students to relate 

previous knowledge to new one.
n	 it enables delimiting the content 

for particular class.
n	 it provides experiences to learns 

for better grasp of topic.
n	 it helps learners to comprehend 

more abstract concepts.
n	 it provides relationship between 

two or more concepts.

Assessment tools and techniques 
for determining the student's 
academic capabilities, fluency, and 
skills in a particular subject area, 
as well as their progress towards 
academic proficiency in that subject 
area. It includes quizzes, portfolios, 
observations, rating scales, anecdotal 
records, etc.

83.	 Option (4) is correct.
Explanation: To address their 
difficulties, the teachers should—
n	 Make them sit in the front row of 

the classroom.
n	 Arrange textbooks for such 

children with larger print sizes.
n	 Try to arrange suitable counseling 

for them and their family.
n	 Instead of providing assignments 

and activities, the teacher should 
give oral instructions to the 
visually impaired children.

n	 Teachers should show the real 
object in class for children an 
experience to provide tactile 
learning experiences.

Hence, we conclude that Geeta 
should make Iqbal sit in the front 
seat to motivate him to attend 
school.

84.	 Option (4) is correct.
Explanation: Teaching strategy: It is 
a method adopted by the teacher to 
assist the children throughout the 
learning process.
Key Points
Field-trip or excursion: It is 
a  visit to a location outside the 
classroom  where students can try 
new things, have new experiences, 
and obtain first-hand observation.
Importance of field trip
n	 ​To provide hands-on experience.
n	 To develop observation and 

perception skills.
n	 To promote personal and social 

development.
n	 To increase interest and 

motivation towards the subject.
Hence, we conclude that  the most 
suitable strategy for teaching the 
process of sericulture is visiting a 
sericulture unit.
Whereas discussion, lecture, and 
documentary presentation will not 
help children in connecting the 
classroom to the real-world situation.

85.	 Option (1) is correct.
Explanation: According to Ramesh, 
role playing is the best method 
to teach ‘Animals’ to students of 
Class-V, for better understanding of 
students, he should:
n	 asks students to write the play to 

improve their writing skills.
n	 asks students to enact the play 

for good vocal projection, word 
articulation, linguistic fluency, 
etc.

n	 provides them ample 
opportunities for enhancing their 
creative thinking.

A structured plan of educational 
experiences and activities delivered 
to a learner under the supervision of 
an educational institution is known 
as a curriculum. In schools, it is 
more structured, whereas in higher 
education it is more flexible.
Key Points: 	Curriculum construction 
is a specialized field of work that 
requires a teacher to have a thorough 
understanding of the underlying 
concept of curriculum as well as 
the ability to systematically design 
learning experiences to fulfill 
society's socially desirable goals.
A teacher should construct a 
curriculum as it helps in suggesting 
suitable learning strategies, teaching 
methods, and instructional materials.
It helps in providing the proper 
implementation of the curriculum 
on the part of teachers and learners.
Hence, we conclude that an EVS 
teacher must construct a curriculum.

86.	 Option (2) is correct.
Explanation: At the primary 
level,  EVS is an integrated subject 
area  that incorporates knowledge 
from the sciences (physical, chemical, 
and biological), social studies (history, 
geography political science, 
and so on), and  environmental 
education  (protection and 
conservation).
Key Points
n	 There are no prescribed 

textbooks for classes I and II 
because environmental studies 
are  not taught at very primary 
level (classes 1 and 2) as a distinct 
subject  but the concepts which 
are important to know at that 
stage of life are  taught through 
language and mathematics.

n	 As children see the world 
holistically rather than dividing 
it into distinct subject areas, it is 
important  to provide learning 
experiences that blur the lines 
between subject areas. This 
not only  helps to lighten the 
curriculum load  but also helps 
children to learn more effectively.

Hence, we conclude that  there 
are no textbooks of EVS for classes 
because environmental components 
have been integrated with language 
and mathematics.

87.	 Option (3) is correct.
Explanation: Teaching methods are 
the methods adopted by the teacher 
to assess the children throughout 
the learning process.
Key Points
n	 Plays improve both verbal and 

non-verbal communication. It 
enhances vocal projection, word 
articulation, linguistic fluency, 
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and persuasive communication. 
Playing drama, being an audience 
rehearsing, and performing 
helps to enhance listening and 
observation abilities.

n	 It builds confidence and gently 
builds up the self-esteem of the 
children by being an active part 
of the activity.

n	 While organizing a play in the 
classroom, the teacher should ask 
the students to write the play and 
enact it as it will help them think 
on their feet and generate new 
ideas.

n	 It will help them in sparking their 
interest in the world in which 
they live and making them more 
inquisitive.

n	 Plays can help create strong 
bonds between children as they 
laugh, learn and grow together.

Hence, we conclude that the 
teachers should ask children to write 
the play and enact it.

88.	 Option (3) is correct.
Explanation: Learning through 
experiences–Children learn  through 
observation, hearing, exploration, 
experimentation, and question-
ing.  Children can learn about and 
interact with the world around them 
through learning to explain and 
discuss concepts. These abilities lay 
the groundwork for the children's 
interest in learning, knowledge 
acquisition, and establishing connec-
tions to real-life events.
Key Points
Importance of real-life experiences 
in learning—
A synopsis or neural link is formed 
in a young child's brain with each 
experience. the more experiences 
they have, the more synapses they 
develop.  The more meaningful an 
experience the more likely a child 
is to desire to repeat it.  The link 
between the kid and the experience 
grows deeper and more permanent 
with each repetition and the child 
gains confidence and competence.
Making learning meaningful is 
important to children's under-
standing of the learning concepts and 
the world around them.  Teachers 
make learning meaningful when 
they link the lesson to children's 
previous experiences, relate concepts 
to children's lives, and provide 
children with hands-on learning.
Classroom management issues will 
be much reduced  because engage-
ment will increase as a result 
of using real-life connections in 
teaching. Students are less prone 
to act out if they are interested in 
learning something.
Hence, we conclude that  Shivangi 
must arrange sky observation as 

it will help children connect the 
classroom to real life.

89.	 Option (1) is correct.
Explanation: Formative assess-
ment refers to a range of approaches 
used by teachers  to assess students' 
comprehension, learning needs, and 
academic progress  during a lesson, 
unit, or throughout the course.
Key Points
n	 Assessment for learning: it 

is the process of finding and 
understanding the evidence for 
learners and teachers to utilize 
in  determining where children 
are in their learning process, 
where they need to go, and how 
to get there. This is also known as 
formative assessment.

n	 Assessment as learning: It is the 
use of an activity or a task that 
helps children to use assessment 
to improve their own learning. 
It helps children to reflect on 
their own learning and make 
adjustments  so that they achieve 
a deeper understanding of the 
concepts.

Hence, we conclude that  formative 
assessment for EVS is both, 
assessment for learning and 
assessment as learning.

90.	 Option (4) is correct.
Explanation: Assessment tools  are 
the techniques for determining 
a student's academic capabilities, 
fluency, and skills in a particular 
subject area, as well as their progress 
towards academic proficiency in that 
subject area.
Key Points
Formative assessment  refers to 
the assessment for  monitoring the 
student's progress  throughout the 
learning and teaching process.
It mainly focuses on finding and 
diagnosing students' needs rather 
than grading and ranking them.
Assignments, projects, portfolios, 
anecdotal records, rating scales, 
quizzes,  etc. are the appropriate 
tools for formative assessment.
Anecdotal records:  An anecdotal 
record is a  thorough descriptive 
narrative  that is recorded after a 
specific behavior or interaction of 
children.
It helps the teacher in planning 
learning activities, providing 
information to families, and 
recognizing learning gaps.
They are used to keep track of 
specific observations of students' 
actions, skills, and attitudes.
Hence, we conclude that  anecdotal 
records can be used for formative 
assessment in EVS.

Language: English
91.	 Option (1) is correct.

Explanation: Quoting from the 
passage, “I just took it because I 
saw it as a transaction between my 
teacher and my father!”
Hence, Option (2) is correct.
“Reading it always made my father 
blow up.”
Hence, Option (4) is correct.
“The teacher must have said 
something not so nice.”
Hence, option (1) needs to be 
corrected.
“But I was unconcerned. I had too 
much else going on that interested 
me.” 
Hence, option (3) is also correct.

92.	 Option (4) is correct.
Explanation: Quoting the lines from 
the passage, “The alarming increase 
in student suicides today is because 
we have created a society founded 
on the premise that life is a race. So 
you rush to the finishing line! Is it 
any wonder that so many chose 
to end their lives? This is the self-
destructive model that we have for 
ourselves.”
The above lines show that the 
competition-based success model 
we have created for ourselves is self-
destructive.

93.	 Option (2) is correct.
Explanation: Quoting the lines from 
the passage, “The alarming increase 
in student suicides today is because 
we have created a society founded 
on the premise that life is a race. So 
you rush to the finishing line!”,” If 
our joy is about being better than 
someone else, it is not success; it 
is sickness. To reap the benefits of 
someone else’s failure is a tragic way 
to live.”
These lines show that the students 
miss out on the joy of learning 
because they want to outperform 
others, focus only on studies, and 
feel that life is a race.
Hence, the statement that they love 
studying books must be corrected.

94.	 Option (1) is correct.
Explanation: Quoting the lines from 
the passage, “Education should 
create the right atmosphere to allow 
that genius to flower to its optimal 
potential.”
These lines state that the author 
wants education to help a student 
reach his full potential.

95.	 Option (1) is correct.
Explanation: Quoting the lines from 
the passage, “The man going to the 
bar and the man going to the temple 
are seeking the same thing! They are 
looking for fulfilment, but through 
different means.”
These lines state that statement ‘A’ is 
true.
“But once you know that the source 
of both pleasure and pain, agony 
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and ecstasy are within you, why 
would you outsource it?”
The above line states that statement 
‘B’ is also true.

96.	 Option (4) is correct.
Explanation: ‘Alarming’ means 
‘disturbing’ or ‘worrying’.
The author is worried that students 
are involved in the rat race and 
unhealthy competition to succeed, 
which is triggering suicide.

97.	 Option (2) is correct.
Explanation: ‘Particular’ refers to 
something specific.
‘General’ means concerning all or 
most people or things.
Hence, ‘general’ is the opposite of 
‘particular’.

98.	 Option (3) is correct.
Explanation: A preposition usually 
precedes a noun, noun phrase, 
or pronoun, to show direction, 
time, place, location, or spatial 
relationships or to introduce an 
object.
Between means ‘in’ or ‘into’, the 
space that separates two places, 
people, or objects.
In the sentence, “It was a transaction 
between my teacher and my father”, 
between is expressing a relation to 
the element in the clause.

99.	 Option (1) is correct.
Explanation: The sentence has 
‘always’ in it, showing present tense, 
and the verb that follows should 
also be ‘makes.’
Hence, the sentence should read like 
this, “Reading it always makes my 
father blow out”.

100.	 Option (2) is correct.
Explanation: ‘Lucy Gray’ is a poem 
by William Wordsworth.
“Oft I had heard of Lucy Gray, 
And when I crossed the wild.”
These lines from the poem state that 
the poet saw Lucy often.

101.	 Option (4) is correct.
Explanation: This line from the 
poem ‘Lucy Gray’ by William 
Wordsworth, “I chanced to see at 
break of day The solitary child.”
The poet claims he saw “the solitary 
child” right “at break of day”, which 
means ‘dawn’.

102.	 Option (3) is correct.
Explanation: “No mate, no comrade 
Lucy knew;
She dwelt on a wide moor,”
These lines state that Lucy had “no 
mate” and “no comrade” and that 
she was a “solitary child”.

103.	 Option (2) is correct.
Explanation: Quoting the lines from 
the poem ‘Lucy Gray’,
“Tonight will be a stormy night,
You to the town must go;
And take a lantern, Child, to light
Your mother through the snow.”
The poet here states that Lucy’s 
father sent her out in the snow with 
a lantern to find her mother as it will 
be a stormy night.

104.	 Option (3) is correct.
Explanation: “Oft I had heard of 
Lucy Gray:
And, when I crossed the wild,
I chanced to see at break of day
The solitary child.”
In the above lines, ‘Gray’ and ‘day’ 
rhymes ‘a.
‘wild’ and ‘child’ rhymes ‘b’.
The poem has an ab, ab rhyme 
scheme.

105.	 Option (2) is correct.
Explanation: Alliteration is the 
literary device where the words 
have the repetition of the same 
consonant sound at the start. The 
purpose is to give writing a lulling, 
lyrical, and emotive effect.
Hence, ‘to the town’ is an alliteration. 

106.	 Option (3) is correct.
Explanation: Graphology is a process 
used to determine personality traits 
and details about a person based on 
their handwriting. Unfortunately, it 
is a false system that believes that 
handwriting is an expression of 
personality though no cold, hard 
scientific evidence describes the 
accuracy of results.

107.	 Option (3) is correct.
Explanation: Learning by doing is 
the simple idea of learning more 
about something when we act on 
that idea.
The task and activities in language 
learning should be based on 
previous activities and not be 
repetitive.
Meaningful activities engage 
students in active, constructive, 
intentional, authentic, and 
cooperative ways.
Learning by doing is the simple idea 
of learning more about something 
when we act on that idea.

108.	 Option (2) is correct.
Explanation: Students can use 
textbooks for revision, class work 
and home assignments, and they can 
note down the summary, essential 
points and views of scholars in their 
textbooks. The textbook controls 
the contents, method and teaching 
and learning procedures. Textbooks 
are resource books for ideas and 
activities, for instruction/learning, 
and to enhance language skills and 
vocabulary.

109.	 Option (2) is correct.
Explanation: 
A poem is a piece of writing which 
appeals to the senses (audio and 
visual). The words spell beauty, 
and the sounds appeal to the 
senses as they are rhythmic. It is 
artistic writing that stirs a reader’s 
imagination or emotions.
Hence, a poem should be enjoyed 
for its beauty and subject, and a 
reader can have his understanding 
of the poem depending on his 
background and experience.

110.	 Option (2) is correct.
Explanation: Diagnostic Assessment 
is part of the Formative Assessment. 
Formative assessments are taken 
during a unit to assess how students 
learn the material the teacher 
has been teaching. Diagnostic 
assessments analyze what students 
have learned in the past, often 
from different teachers or classes. 
So, it is done before the Formative 
Assessment.

111.	 Option (2) is correct.
Explanation: The communicative 
approach is based on learning 
to communicate from real-life 
situations in the real world. The 
learners use their natural language 
acquisition strategies to learn a 
language in a natural context.
The following examples can explain 
this,
A teacher can divide the class into 
two groups and give them two 
reading topics. Then the teacher 
can ask both groups to present their 
views on the given topics, facilitating 
the easy flow of communication. 
Children will present their views 
in their natural language as per 
their understanding, facilitating 
vocabulary and speech. 

112.	 Option (3) is correct.
Explanation: Critical thinking 
demands reasoned judgements that 
are logical and well-thought-out. It 
is a way of thinking that does not 
blindly accept some arguments and 
conclusions but rather questions 
them. It requires seeing what 
evidence supports a particular 
argument or conclusion.
In order to enhance critical thinking 
in the language classroom, Teachers 
should encourage students to 
develop their ideas through constant 
support and guidance.
A teacher should help them with 
their tasks by providing scaffolding 
– techniques/strategies to help them 
achieve their goals which can help 
them in their research, organise 
their thoughts, or put ideas in 
perspective), so they can complete 
not only the task but also have a 
sense of achievement, which is a 
great motivator to keep working.

113.	 Option (1) is correct.
Explanation: Inferential is a method 
of deducing meaning from the clues 
available in the text, which is not 
stated directly but only suggested 
and reaching conclusions based on 
evidence and reasoning.
Students can better understand 
an author’s meaning by inferring, 
processing more complex character 
development, and comparing 
themes. Making inferences about 
what we are reading is a foundational 
skill required for readers to move past 
the fundamental comprehension of a 
text.
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114.	 Option (2) is correct.
Explanation: A composition is a 
form of writing expressing ideas, 
thoughts, feelings, observations and 
experiences.
It requires organised thinking and 
writing as it involves generating 
ideas, deciding on the form of the 
writtenhindi text, and also thinking 
about who will read it. 

115.	 Option (3) is correct.
Explanation: Reading skills refer to 
a child’s approach towards reading, 
which helps them understand the 
text and its meaning. It serves as 
a fundamental building block for 
learning. Reading skills strengthen 
the Brain and improve memory.
As a teacher, talking to the students 
about their likes and dislikes 
of reading and making them 
understand with experiences and 
examples is essential.

116.	 Option (3) is correct.
Explanation: Dr Stephen Krashen, 
an American linguist, formulated 
the idea of Comprehensible input, 
an instructional technique for 
teachers to provide input that 
allows students learning English to 
understand most of the language 
but not necessarily all.
Hence, learners acquire language 
by taking in and understanding a 
language that is “just beyond” their 
current level of competence.

117.	 Option (3) is correct.
Explanation: Language and critical 
thinking are related concepts that 
facilitate each other’s development. 
For example, as children engage in 
critical thinking, their language skills 
expand because they are encouraged 
to develop and use more complex 
language with words like “because”, 
phrases with “if ” and “then”, and 
different verb tenses.
With their prior knowledge, 
experiences, and beliefs, children use 
language to verify new experiences 
and knowledge, make connections, 
reflect upon ideas, and determine 
courses of action.

118.	 Option (2) is correct.
Explanation: Colloquial refers to the 
language that one uses in everyday 
conversation. It is an informal 
way of speaking that creates a 
conversational tone. Writing in 
colloquial language gives the text a 
casual approach. It is not necessarily 
“wrong”, but a writer uses it to 
achieve informality.

119.	 Option (3) is correct.
Explanation: Prose is a form of 
formal academic writing that 
naturally follows the flow of speech 
and uses a language’s ordinary 
grammatical structures.
So, play, novel, and story are all 
forms of prose.

On the other hand, a poem expresses 
beauty with rhyming sounds, which 
gives rhythm to the expressions. 
Prose uses language in its natural 
and organic form, whereas Poetry 
employs language’s aesthetic and 
rhythmic characteristics to convey 
meaning. 

120.	 Option (4) is correct.
Explanation: A memoir is a narrated 
account of events and memories 
from the author’s life (personal 
experiences).
It is a personal, non-fictional, first-
hand account of the author’s life.
Writers often use memories from 
their own lives to tell a good story. 

Language: Hindi

121.	 fodYi (4) mfpr gSA
O;k[;kµQ.kh'ojukFk js.kq ds tekus esa fgUnh 
dgkuh ds lcls cM+s vkykspd ukeoj flag FksA
ukeoj flag
(1)	� tUe & 28 tqykbZ 1927, okjk.klh
(2)	� fgUnh ds ewèkZU; vkykspd ,oa lEiknd
(3)	� Nk;kokn] dfork ds u, çfreku] 

nwljh ijEijk dh [kkst bR;kfn çeq[k 
Ïfr;k¡

(4)	� vè;;u'khy rFkk fopkjd çÏfr 
Q.kh'ojukFk js.kq

(5)	� tUe & 4 ekpZ 1921, fcgkj
(6)	� 1942 ds Hkkjr NksM+ks vkanksyu esa 

lfØ; Hkkx
(7)	� usikyh neudkjh j.klÙkk ds fo:¼ 

l'kL= Økafr ds lw=èkkj
(8)	� ½.kty&èkuty] eSyk vk¡py] vkfne 

jkf= dh egd bR;kfn çeq[k Ïfr;k¡

122.	 fodYi (3) mfpr gSA
O;k[;kµys[kd us lkekU; ikBd dks dkWeu 
jhMj dh laKk nh gSA ys[kd dgrk gS fd 
,d nwljs vkykspd dh ryk'k djuh pkfg,] 
ftls ge lkekU; ikBd dgrs gSaA ftls vke 
ikBd dgrs gSa] dkWeu jhMj ;k lkekU; 
ikBd dgrs gSa vkSj tks ys[kd mudh 
Le`fr;ksa esa vkSj tqcku ij jgrk gSA
ftls vke ikBd dgrs gSa] dkWeu jhMj 
;k lkekU; ikBd dgrs gSa vkSj tks ys[kd 
mudh Le`fr;ksa esa vkSj tqcku ij jg tkrk 
gS] dksbZ Hkh vkykspd mls vuns[kk u djus 
ds fy, etcwj gksrk gS A rks eSaus ml lkekU; 
ikBd dks viuk vkykspd le>kA

123.	 fodYi (4) mfpr gSA
O;k[;kµml tekus esa ys[kdksa dh utj 
bykgkckn ;k fnYyh ds ys[kdksa ij jgrh 
Fkha D;ksafd os vkèkqfud ys[kd dgs tkrs FksA
ys[kd us dgk fd esjh Hkh dksf'k'k yxHkx 
oSlh gh Fkh fd vkèkqfud gks ldw¡A
vkèkqfud ys[ku
(i)	� ijEijk ls foæksg
(ii)	� jk"Vªh;rk dk Hkko
(iii)	� ckSf¼d fodkl
(iv)	� lkearokn dk iru

ml tekus esa ys[kdksa dh utj bykgckn ;k 
fnYyh ds ys[kdksa ij jgrh Fkh] D;ksafd os 
vkèkqfud ys[kd dgs tkrs Fks
ysfdu T;knkrj ys[kdksa dh utj fnYyh ;k 
bykgkckn ds mu ys[kdksa ij jgrh Fkh] tks 
vkèkqfud ys[kd dgs tkrs FksA
esjh Hkh dksf'k'k yxHkx oSlh gh Fkh fd 
vkèkqfud gks ldw¡A

124.	 fodYi (1) mfpr gSA
O;k[;kµys[kd dk dguk Fkk fd esjh Hkh 
dksf'k'k yxHkx oSlh gh Fkh fd vkèkqfud 
gks ldw¡ vkSj vkèkqfud ys[ku og Fkk] tks 
ijEijk ls foæksg dj ds fd;k tk jgk Fkk] 
ijEijk dks udkj dj fd;k tk jgk FkkA
vkèkqfud ys[ku og Fkk] tks ijEijk ls foæksg 
dj ds fd;k tk jgk Fkk] ijEijk dks udkj 
dj fd;k tk jgk FkkA

125.	 fodYi (2) mfpr gSA
O;k[;kµys[kd us vuqPNsn esa Lo;a ds yksd 
ijEijk vkSj vkèkqfud ys[ku ds }a} dh vksj 
ladsr fd;k gSA
yksd ijEijk
(1)	� lkekftd thou esa o oS;fDrd 

O;ogkj esa ,d:irk mRiUu djrh gSA
(2)	� gekjs O;ogkj ds rjhdksa dk |ksrd gSA
(3)	� yksd ijEijk vuqHko fl¼ O;ogkjksa 

dk laxzg gksrh gSA
(4)	� yksd ijEijk ds ihNs vusd ihf<+;ksa dk 

vuqHko rFkk lkekftd vfHkefr gksrh 
gSA

	 vkèkqfud ys[ku
(1)	� ijEijk ls foæksg
(2)	� jk"Vªh;rk dk Hkko
(3)	� ckSf¼d fodkl
(4)	� lkearokn dk iru
vkèkqfud ys[ku og Fkk] tks ijEijk ls foæksg 
dj ds fd;k tk jgk Fkk] ijEijk dks udkj 
dj fd;k tk jgk FkkA ge ,slk ugha lksp 
jgs FksA
dgha u dgha esjs Hkhrj yksd&ijEijk dfg, 
;k çsepan dh ijaijk og Fkh] ysfdu eSa oSlk 
fn[kuk pkg jgk Fkk tSlk os dg jgs Fks] 
fy[k jgs FksA

126.	 fodYi (3) mfpr gSA
O;k[;kµyksd ijEijk yksd ls tqM+h gqbZ gksrh 
gS ftlds dkj.k blesa vkèkqfud] fo'ks"k.k dk 
ç;ksx ugha fd;k tk ldrkA
yksd ijEijk
(i)	� gekjs O;ogkj ds rjhdksa dk |ksrd gSA
(ii)	� yksd ijEijk ds ihNs vusd ihf<+;ksa dk 

vuqHko rFkk lkekftd vfHkefr gksrh 
gSA

	 tcfd ys[kd] ikBd vkSj thou&'kSyh rhuksa 
dk ç;ksx vkèkqfud fo'ks"k.k ds :i esa fd;k 
tk ldrk gSA
ijaijkxr rkSj ij yksd dyk {ks= vFkok 
leqnk; fo'ks"k ds yksxksa }kjk fd;k x;k og 
dykdeZ gSA
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ftlds ewy esa 'kqHk dk fopkj gksrk gS vkSj 
tks volj fo'ks"k ls tqMs vuq"Bkuksa ,oa 
vko';drkvksa dks lEiUu djus gsrq fd;k 
tkrk gSA

127.	 fodYi (4) mfpr gSA
O;k[;kµbuesa ls jktèkkuh 'kCn O;fDrokpd 
laKk dk mnkgj.k ugha gSA
O;fDrokpd laKk
fdlh O;fDr fo'ks"k] LFkku fo'ks"k ;k oLrq 
fo'ks"k ds uke ds |ksrd 'kCn dks O;fDrokpd 
laKk dgrs gSaA
(i)	� O;fDr fo'ks"k µ jfo] lhrk] Ï".k
(ii)	� LFkku fo'ks"k µ t;iqj] fnYyh] iVuk] 

paMhx<+
(iii)	� oLrq fo'ks"k µ jkek;.k] xhrk

128.	 fodYi (3) mfpr gSA
O;k[;kµbuesa ls fn[kuk ‘kCn lewg fHkUu 
gSA
'kCn&lewg
og èofu lewg ftldk dksbZ vFkZ gks mls 
'kCn dgrs gSaA fdlh Hkk"kk esa ç;ksx fd, tkus 
okys ‘kCnksa dks 'kCn&lewg dgrs gSaA

129.	 fodYi (4) mfpr gSA
O;k[;kµgj vkneh viuh vko';drk ds 
vuq:i dqN lh[k ysus vkSj dj ysus ds 
ç;kl ds fujUrj tqVk gqvk gSA ;g mlds 
vfLrRo dk loky Hkh gS vkSj jksth&jksVh 
dk loky HkhA
Hkkjrh; lekt dh vksj tc vkLFkkoku n`f"V 
ls ns[krs gSa rks ikrs gSa fd gj vkneh viuh 
vko';drk ds vuq:i dqN lh[k ysus vkSj 
dj ysus ds ç;kl esa fujarj tqVk gqvk gSA
;g mlds vfLrRo dk loky Hkh gS vkSj 
jksth&jksVh dk loky HkhA

130.	 fodYi (2) mfpr gSA
O;k[;kµbuesa ls ys[kd ds vuqlkj lh[kus 
ds lUnHkZ esa lh[kus ds lkèkuksa dks egÙo nsuk 
mfpr ugha gSA
lh[kus dh çfØ;k
(i)	� lh[kus esa fujUrjrk
(ii)	� lh[kus ds i;kZIr volj nsuk
(iii)	� lh[kus esa lgtrk dk gksuk
lh[kus dh çfd;k esaµ
lh[kus ds fy, mfpr okrkoj.k
lh[kus ds i;kZIr lalkèku

131.	 fodYi (2) mfpr gSA
O;k[;kµys[kd us vkSipkfjd f'k{kk dh 
lhekvksa dk mYys[k fd;k gSA

	 Hkkjrh; lekt dh vksj tc vkLFkkoku n`f"V 
ls ns[krs gSa rks ikrs gSa fd gj vkneh viuh 
vko';drk ds vuq:i dqN lh[k ysus vkSj 
dj ysus ds ç;kl esa fujUrj tqVk gqvk gSA 
;g mlds vfLrRo dk loky Hkh gS vkSj 
jksth&jksVh dk loky HkhA ftrus vkSj tSls 
dkS'ky dk fodkl gekjs lekt esa lgt 
:i ls gksrk jgk gS] oSlk dkS'ky fuekZ.k 
lEHkor;k vkSipkfjd f'k{kk laLFkkvksa ds cwrs 
dh ckr Hkh ugha FkhA

vkSipkfjd f'k{kk&
fu;fer f'k{kk çfØ;k dks vkSipkfjd f'k{kk 
dgrs gSµ
bl çfØ;k es Nk=èNk=k dks fu;fer :i 
ls f'k{kk laLFkku esa f'k{kk çkIr djus tkuk 
gksrk gSaA
vè;kid Hkh fu;fer :i ls Nk=ksa dks f'k{kk 
çnku djrsa gSaA
blds y{; vkSj mís'; fuf'pr gksrs gSaA
fuf'pr ikBîØe] ikBîiqLrd] f'k{k.k fofèk 
;k le;&lkj.kh gksrh gSA
vukSipkfjd f'k{kk&
;g i=kpkj] lEidZ dk;ZØeksa] tu lapkj ds 
lkèkuksa }kjk f'k{kk çnku dh tkrh gSaA
blds y{; vkSj mís'; fuf'pr ugha gksrs 
gSa vkSj u gh dksbZ fuf'pr ikBîØe] 
ikBîiqLrd] f'k{k.k fofèk ;k le;&lkj.kh 
gksrh gSA
;g f'k{kk tUe ls ysdj e`R;q rd fuckZèk 
:i ls yxkrkj pyrh jgrh gSA
lrr f'k{kk&
lrr f'k{kk ,d ,slh O;kid voèkkj.kk gS tks 
lHkh :iksa esa pyus okys 'kSf{kd fØ;kdykiksa 
dks varfuZfgr djrh gSA
blds varxZr vkSipkfjd lgt rFkk xSj 
vkSipkfjd lHkh çdkj dh 'kSf{kd ç.kkfy;ka 
vk tkrh gSaA
lrr f'k{kk ewY; f'k{kk dks thou vkSj thou 
dks f'k{kk le>us okyh voèkkj.kk gSA
vkthou f'k{kk&
,slh f'k{kk tUe ls e`R;q rd fujarj pyrh 
jgs] blds varxZr vkSipkfjd f'k{kk rFkk 
vukSipkfjd f'k{kk vkrs gSaA

132.	 fodYi (1) mfpr gSA
O;k[;kµys[kd dk ekuuk gS fd lh[kus 
ds bYe dks u rks çfrf"Br fd;k vkSj u 
gh lh[kus dks LoèkeZ ekukA blds foijhr 
fl[kkus ds cM+s bartke fd, vkSj bu 
bartkeksa esa fl[kkus ds lkèku çcy gks x, 
vkSj lh[kus okyk xkS.k gks x;kA
lh[kus dh çfØ;k dk vfHkUu vax gS] 
vklikl ds okrkoj.k] çÏfr] phtksa o yksxksa 
ls dk;Z o Hkk"kk nksuksa ds ekè;e ls laokn 
LFkkfir djuk gSA
lh[kus ds lkjs jkLrs [kksy fn, tkrsA exj 
,slk ugha gqvkA geus lh[kus ds bYe dks u 
rks çfrf"Br fd;k vkSj u gh geus lh[kus dks 
LoèkeZ ekukA
blds foijhr geus fl[kkus ds cM+s bartke 
fd, vkSj bu bartkeksa esa fl[kkus ds lkèku 
çcy gks x, vkSj lh[kus okyk xkS.k gks x;kA
lh[kus okyk u dsoy xkS.k gqvk cfYd 
lkèkuksa ds vackj esa nc x;k] cgqr ihNs NwV 
x;kA ;g D;k gqvk bldk fdlh dks irk Hkh 
ugha pykA
okLro esa lh[kus dh çfØ;k esa lh[kus okyk 
çeq[k gS rFkk lkèku xkS.kA

133.	 fodYi (3) mfpr gSA
O;k[;kµys[kd us crk;k fd lh[kuk lnk 
tkjh jgs vkSj lh[kus ds bl bYe ds lkFk 

lkjk lekt ltx vkSj lcy lekt ds :i 
esa fodflr gksA
(i)	� lh[kus dh fujUrjrk vkSj lh[kus dh 

lgtrkA
(ii)	� lh[kus dh vkSj ço`Ùk gksukA
(iii)	� lh[kus ds lkèku çcy gks x, gSaA
(iv)	� lh[kus okyk xkS.k gks x;k gSA
iwjs fo'o ds yk[kksa yksx fiNys dbZ o"kksaZ ls 
blh ç;kl esa layXu gS fd lh[kuk lnk 
tkjh jgs vkSj lh[kus ds bl bYe ds lkFk 
lkjk lekt ltx vkSj lcy lekt ds :i 
esa fodflr gks ldsA
lh[kus dh fujarjrk vkSj lh[kus dh lgtrk 
ds fj'rs dks ifjHkkf"kr djukA
bartkeksa esa fl[kkus dh lkèku çcy gks x, 
vkSj lh[kus okyk xkS.k gks x;kA

134.	 fodYi (2) mfpr gSA
O;k[;kµ^laLFkkvksa ds cwrs dh Hkh ckr ugha 
FkhA* okD; esa cwrs* 'kCn dk vFkZ lkeF;Z gSA
(i)	� lEeku dk vFkZ µ çfr"Bk
(ii)	� vfLrRo dk vFkZ µ ekStwnxh
(iii)	� lUns'k dk vFkZ µ [kcj] lekpkj
fdlh 'kCn dk foykse 'kCn ml 'kCn ds vFkZ 
ls mYVk vFkZ okyk gksrk gSA
,d gh 'kCn ds ,d ls T;knk vFkZ fudys 
mls i;kZ;okph 'kCn dgrs gSA

135.	 fodYi (1) mfpr gSA
O;k[;kµltx] lcy] vkLFkkoku 
'kCn&lewg fo'ks"k.kksa dk 'kCn&lewg gSA
'kCn&lewg

	 og èofu lewg ftldk dksbZ vFkZ gks mls 
'kCn dgrs gSaA fdlh Hkk"kk esa ç;ksx fd, tkus 
okys 'kCnksa ds 'kCn&lewg dgrs gSaA
fo'ks"k.k

	 laKk vFkok loZuke 'kCnksa dh fo'ks"krk 
(xq.k] nks"k] la[;k] ifj.kke bR;kfn) crkus 
okys 'kCn fo'ks"k.k dgykrs gSa_ tSls& lqUnj] 
yEck] n;kyq] ltx bR;kfnA
vkLFkkoku& vkLFkk j[kus okyk] vkLFkk ls 
;qäA
çfr"Bk& eku&e;kZnk] lEeku] bt~tr
çcy& cyoku] mxz] rst] çpaMA
ltx& lrdZ] lkoèkkuA

136.	 fodYi (2) mfpr gSA
O;k[;kµukfj;y okys vkSj Hkh[kw HkkbZ dh 
ckrphr dks vius ?kj dh cksyh esa fy[kksA* 
;g cgqHkkf"kdrk dks iksf"kr djrk gSA
cgqHkkf"kdrk
(i)	� cgqHkk"kh dk vFkZ ,sls O;fDr ls gS tks 

nks ;k vfèkd Hkk"kkvksa dk ç;ksx djrk 
gSA

	 cgqHkkf"kdrk ds ykHk
(i)	� vfèkd laokn dkS'ky
(ii)	� mPp Hkk"kkbZ cksèk
(ii)	� mRÏ"V çcUèkdkjh dk;Z i¼fr
(iv)	� vius ifjos'k ds vuq:i <yuk
(v)	� Le`fr esa lqèkkj
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cPpksa dks mudh ekr`@x`gHkk"kk ç;ksx dh 
vuqefr nsarh gSA
cgqHkkf"kdrkokn dks thoarrk çnku dj f'k{k.k 
dks lgt cukrh gSA
cPpksa dks cgqlaoknkRed ifjfLFkfr;ksa dk 
lkeuk djus dh ;ksX;rk çnku djrh gSA
cPpksa dks laLÏfr ls tksM+rs gq, laLr`fr dk 
vknku&çnku djrh gSA
cPpksa dks ekr`Hkk"kk ç;ksx }kjk d{k ds 
okrkoj.k ls tksM+ dj cgqHkkf"kdrk dks iksf"kr 
djrh gSA

137.	 fodYi (3) mfpr gSA
O;k[;kµ^D;k rqe vius vkl&ikl dh ,slh 
txg lksp ldrs gks] tgk¡ cgqr 'kksj gksrk 
gSA ml txg ds ckjs esa fy[kksA* ;g ikB dks 
cPpksa dh futh nqfu;k ls tksM+rk gSA

	 eq[; fcUnq
(i)	� rdZ 'kfDr dk fodklA
(ii)	� ckSf¼d fpUru dh {kerk dk fodklA
(iii)	� vuqHko vkSj fpUru dks egÙoA
d{kk esa var%fØ;k djus ds fy;s f'k{kd 
cgqr çdkj ds ç'u djrk gSA fcuk ç'uksa 
ds d{kk var%fØ;k ugha djkbZ tk ldrh gSA 
blds lkFk gh lkFk fo|kfFkZ;ksa ds vfèkxe 
vkdyu ds fy;s Hkh fofHkU‍u çdkj ds ç'uksa 
dh vko';drk gksrh gSA ç'uksa ds Lo:i vkSj 
lajpuk dk cgqr egÙo gSA

138.	 fodYi (1) mfpr gSA
O;k[;kµHkk"kk&vtZu dh {kerk tUetkr 
gksrh gSA
Hkk"kk vtZu
(i)	� ,d çkÏfrd çfØ;kA
(ii)	� fdrkc vkSj O;kdj.k dh vko';drk 

ugha gksrhA

	 pkWELdh us Hkk"kk vtZu ds fo"k; esa dgk 
gS fd ^Hkk"kk vtZu dh {kerk ckydksa esa 
tUetkr gksrh gS vkSj og Hkk"kk dh O;oLFkk 
dks igpkuus dh ‘kfDr ds lkFk iSnk gksrk gSA
Hkk"kk vtZu dh fofèk;k¡
(i)	� vuqdj.k
(ii)	� vH;kl
(iii)	� iqujko`fÙk
(iv)	� lgtrk

	 Hkk"kk vtZu dks çHkkfor djus okys dkjd
(i)	� ifjos'k
(ii)	� lh[kus dh bPNk'kfDr
(iii)	� Nk= dh ekufld rFkk 'kkjhfjd 

fLFkfr
(iv)	� fl[kkbZ tkus okyh Hkk"kk dk Nk= ds 

thou ls lEcUèk
bl çfØ;k esa ckyd lqudj] cksydj] Hkk"kk 
xzg.k djrk gS rFkk fujarj ifjektZu djrk 
jgrk gSA Hkk"kk lh[kus dh çfØ;k esa Hkk"kk 
vtZu dh çfØ;k egÙoiw.kZ gksrh gSA lh[kh 
gqbZ Hkk"kk dks le>us dh {kerk vfiZr djuk 
rFkk mls nSfud thou esa ç;ksx esa ykus dks 
Hkk"kk vtZu dgrs gSaA

Hkk"kk vtZu {kerk rFkk varfuZfgr Hkk"kk dh 
voèkkj.kk çfl¼ Hkk"kk oSKkfud uksvke 
pkWELdh ls lacafèkr gSA bUgksaus vkèkqfud Hkk"kk 
foKku ds tud ds :i esa Hkk"kk foKku ds 
{ks= esa egÙoiw.kZ ;ksxnku fn;k gSA uksvke 
pkWELdh dk ekuuk gS fd cPpksa esa Hkk"kk 
varfuZfgr ,oa tUetkr gksrh gSA

139.	 fodYi (4) mfpr gSA
O;k[;kµçkFkfed Lrj ij Hkk"kk&f'k{k.k dk 
mís'; O;kdj.k dh ifjHkk"kkvksa dks daBLFk 
djuk ugha gsA
Hkk"kk f'k{k.k ds mís';
(i)	� lgtrk ds lkFk ckrphr djus ds 

fy, çsfjr djukA
(ii)	� dgkuh ds ekè;e ls funsZ'k nsukA
(iii)	� vkSipkfjd vkSj vukSipkfjd nksuksa 

rjg ds ekgkSy dks çHkkoh cukukA

	 çkFkfed Lrj ij Hkk"kk f'k{k.k ikB~;p;kZ esa 
dsfUær LFkku çkIr djrk gSA Hkk"kk ds }kjk 
vkèkkjHkwr dkS'ky nwljs {ks=ksa ds laçR;;ksa dks 
le>us esa lgk;d gksrk gSA Hkk"kk dh pkj 
vkèkkjHkwr {kerk,¡ gSaµ
(i)	� lquuk
(ii)	� cksyuk
(iii)	� i<+uk
(iv)	� fy[kuk
Hkk"kk f'k{k.k cPpksa esa cPpksa esa laçs"k.k dq'kyrk 
rFkk ekSfydrk dks fodflr dj mUgsa fofHkUu 
lanHkksaZ esa Hkk"kk ç;ksx esa lQy cukus ls 
lacafèkr gSA çkFkfed Lrj ij Hkk"kk ds }kjk 
çkIr vkèkkjHkwr dkS'ky nwljs {ks=ksa ds laçR;;ksa 
dks le>us esa lgk;d gksrk gSA Hkk"kk f'k{k.k 
dk mís'; Hkk"kk dh le> vkSj vfHkO;fä dk 
fodkl djuk gSA
çkFkfed Lrj ij Hkk"kk f'k{k.k dk mís'; 
cPpksa esa Hkk"kk dh le> vkSj lgt vfHkO;fä 
ds fodkl dks lqfuf'pr djuk gksrk gSA ;g 
cPpksa esa laçs"k.k dkS'ky dks n{k djrh gS 
ftlls cPps fofHkUu lanHkZ esa Hkk"kk ç;ksx esa 
lQy gksrs gSaA vius euksHkko dks fdlh ds 
lkeus vklkuh ls j[k ikuk gh Hkk"kk f'k{k.k 
dks lkFkZd cukrk gSA

140.	 fodYi (2) mfpr gSA
O;k[;kµçkFkfed Lrj ij Hkk"kk dh 
ikB~;&iqLrd cukrs le; Hkk"kk dh jaxrksa ij 
lokZfèkd cy nsuk gksxkA Hkk"kk ds }kjk gh 
O;fDr vius fopkjksa dks nwljs rd igq¡pkus 
dk dk;Z djrk gSA
eq[; fcUnq
(i)	� ifjos'k dks le>us esa lgk;dA
(ii)	� lgt vfHkO;fDr esa lgk;dA
(iii)	� Hkk"kk ds lQy ç;ksx esa lgk;dA
(iv)	� vuqHkoksa dks lk>k djus esa lgk;dA
,d ikBî&iqLrd f'k{k.k çfØ;k esa çHkkoh 
f'k{k.k dh lqfoèkk ds fy, mi;ksx fd;k tkus 
okyk ,d vko';d midj.k gSA lkewfgd 
f'k{k.k O;oLFkk esa ikBî&iqLrd cgqr gh 
vko';d ,oa mÙke 'kSf{kd lkèku gSA

fgUnh Hkk"kk dh ikBî&iqLrd fganh Hkk"kk 
f'k{k.k ds fy, vR;ar egÙoiw.kZ vkStkj gSA 
fgUnh Hkk"kk dh ikBî&iqLrd ds ekè;e ls u 
flQZ cPpksa dk Hkk"kk fodkl gksrk gS] cfYd 
Hkk"kk ,oa lkekftd foe'kZ dks Hkh c<+kok 
feyrk gSA

141.	 fodYi (2) mfpr gSA
O;k[;kµdgkuh i<+rs le; ,d f'k{kd ds 
:i esa Hkkokuqlkj iBu ij lokZfèkd è;ku 
nsaxsA
dgkuh ds ekè;e ls fl[kkuk
(i)	� ckSf¼d fodkl
(ii)	� dfBu fo"k;ksa dks vklkuh ls le>kuk

	 dgkuh ds ekè;e ls fl[kkus ds ykHk
(i)	� ikfjokfjd lEcUèk etcwr gksuk
(ii)	� eu dh 'kkafr
(iii)	� çsj.kk dk lzksr
(iv)	� HkkokfHkO;fDr dk mfpr ekè;e
i<+uk vFkok iBu Hkk"kk ds pkj dkS'kyksa esa 
ls ,d gSA ;g ,d lkFkZd] mís';iw.kZ ,oe~ 
fparu çèkku çfØ;k gS tks iBu ds nkSjku 
Hkkokuqlkj iBu rFkk vuqefud dkS'ky dks 
fodflr djrh gSA ifBr oLrq ds vFkZ dks 
xzg.k djrs gq,] ,d fuf'pr mís'; ls i<+uk 
rFkk vkxs vkus okys rF;ksa dk vuqeku yxkuk 
gh lgh ek;us esa lkFkZd fl¼ gksrk gSA

142.	 fodYi (2) mfpr gSA
O;k[;kµ^iBu ds }kjk KkuktZu ,oa vkuan 
çkfIr esa leFkZ cukuk* çkFkfed Lrj ij 
Hkk"kk f'k{k.k dk ,d egÙoiw.kZ mís'; gSA
Hkk"kk f'k{k.k ds mís';
(i)	� lgtrk ds lkFk ckrphr djus ds 

fy, çsfjr djukA
(ii)	� vkSipkfjd vkSj vukSipkfjd nksuksa 

rjg ds ekgkSy dks çHkkoh cukukA
(iii)	� iBu ds }kjk KkuktZu djukA
(iv)	� vkuan çkfIr esa leFkZ cukukA

	 çkFkfed Lrj ij Hkk"kk f'k{k.k ikB~;p;kZ esa 
dsfUær 'kklu çkIr djrk gSA Hkk"kk ds }kjk 
vkèkkjHkwr dkS'ky nwljs {ks=ksa ds laçR;;ksa dks 
le>us esa lgk;d gksrk gSA Hkk"kk dh pkj 
vkèkkjHkwr {kerk,¡ gSaµ
(i)	� lquuk
(ii)	� cksyuk
(iii)	� i<+uk
(iv)	� fy[kuk
vfèkxe vFkok lh[kuk fdlh fLFkfr ds çfr 
lfØ; çfrfØ;k dks n'kkZrk gSA ;g ,d ,slh 
çfØ;k gS tks thoui;aZr pyrh jgrh gS ,oa 
ftlds }kjk ge Kku vftZr djrs gSaA

143.	 fodYi (3) mfpr gSA
O;k[;kµys[ku dkS'ky esa lokZfèkd egÙoiw.
kZ fcUnq fopkj gSA
ys[ku dkS'ky

	 ys[ku dkS'ky dk vFkZ gS Hkk"kk&fo'ks"k esa 
LohÏr fyfi&çrhdksa ds ekè;e ls fopkjksa 
rFkk Hkkoksa dks vafdr djus dh dq'kyrkA 
ys[kd }kjk fyfic¼ fopkjksa rFkk Hkkoksa dks 
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os gh i<+ vkSj le> ldrs gSa ftUgsa ml Hkk"kk 
rFkk fyfi&O;oLFkk dk vPNk Kku gksA
ys[ku dkS'ky dk egÙo
(i)	� Hkk"kk ds fyfic¼ çrhdksa dk 

ekuo&lH;rk ds fodkl esa fo'ks"k 
;ksxnku jgk gSA

(ii)	� vU; Hkk"kk esa ys[ku&dkS'ky ds fodkl 
}kjk vU; Hkk"kk&Hkk"kh tu leqnk; ds 
lkFk fopkjksa dk vknku&çnku lEHko 
gksrk gSA

(iii)	� ekr`Hkk"kk rFkk vU; Hkk"kk esa 
ys[ku&dkS'ky dk fodkl 
Hkko&çdk'ku ds LFkk;h ,oa O;kid 
:i ij vfèkdrj çkIr djus dk 
lkèku gSA

fy[kuk vFkkZr ys[ku dkS'ky pkjks Hkk"kk 
dkS'kyksa esa lcls vafre pj.k gSA cPpksa esa 
ys[ku dkS'ky dk fodkl ekSfyd fopkjksa dks 
fyf[kr :i nsus rFkk fofHkUu mís';ksa ds fy, 
fy[kus dh {kerk dks lanfHkZr djrk gSA

144.	 fodYi (1) mfpr gSA
O;k[;kµfodYi ekSf[kd 
vfHkO;fDr ds fodkl esa lcls  
egÙoiw.kZ ckrphr gSA
ekSf[kd vfHkO;fDr
ekuo çèkkur% viuh vuqHkwfr;ksa rFkk euksosxksa 
dh vfHkO;fDr mPpfjr vFkok ekSf[kd Hkk"kk 
esa gh djrk gSA Hkkoksa ds vknku&çnku dk 
,d gh lkèku Hkko ;k ok.kh gSA

	 ekSf[kd vfHkO;fDr dk egÙo
(i)	� lgt o ljyre ekè;eA
(ii)	� vuqdj.k vkSj vH;kl ds volj çkIr 

gksukA
(iii)	� fopkjksa ds vknku&çnku dh ubZ 

tkudkfj;k¡A
(iv)	� lkekftd lEcUèkksa dks lqn`<+ cukukA
Hkk"kk ds pkj eq[; dkS'ky lquuk] cksyuk] 
i<+uk rFkk fy[kuk gSA bu dkS'kyksa ds 
ç;ksx ds }kjk gh ekuo vius fopkjksa dk 
ljyrkiwoZd vknku çnku djrk gSA Hkk"kk ls 
lacafèkr bu pkjksa çfØ;kvksa dks ç;ksx djus 
dh {kerk gh Hkk"kk dkS'ky dgykrh gSA
;gka lquuk vkSj i<+uk fopkjksa dks xzg.k djus 
ls rFkk cksyuk vkSj fy[kuk fopkjksa dks 
vfHkO;ä djus ls lacafèkr gSA
ekuo çèkkur: viuh vuqHkqfr;ksa rFkk 
euksosxksa dh vfHkO;fä ekSf[kd Hkk"kk esa gh 
djrk gS D;ksafd Hkkoksa dh vfHkO;fä dk 
lkèku lkèkkj.kr: mPpfjr Hkk"kk gh gksrh gSA 
ekSf[kd vfHkO;fä ls rkRi;Z eu ds fopkjksa 
dks Lora= :i ls cksy dj vfHkO;ä djus 
ls gSA

145.	 fodYi (3) mfpr gSA
O;k[;kµokbxksRLdh us ckyd ds laKkukRed 
fodkl esa lekt ,oa mlds lkaLÏfrd 

lEcUèkksa ds chp laokn dks ,d egÙoiw.kZ 
vk;ke ?kksf"kr fd;kA buds vuqlkj vfèkxe 
vkSj fodkl dh ikjLifjd çfØ;k esa ckyd 
dh lfØ; Hkkxhnkjh gksrh gS ftlesa Hkk"kk dk 
laKku ij lhèkk çHkko iM+rk gSA
euksoSKkfud ok;xksRLdh dk ekuuk Fkk fd 
lkekftd laidZ fodkl esa egÙoiw.kZ Hkwfedk 
fuHkkrs gSaA muds vuqlkj] lh[kuk rc gksrk 
gS tc cPps yksxksa vkSj i;kZoj.k ds lkFk 
laidZ djrs gSaA

146.	 fodYi (2) mfpr gSA
O;k[;kµcPpksa dh dYiuk'khyrk vkSj 
l`tukRedrk dk fodkl djus dh n`f"V ls 
tc fctyh pyh xbZ fo"k; lokZfèkd mfpr 
gSA
l`tukRed vfHkO;fDr
(i)	� fdlh uohu o okafNr oLrq ds mRiknu 

dh vksj ço`Ùk djsA
(ii)	� uohu jpuk ;k fopkjksa dh çLrqfrA
(iii)	� ekSfyd ifj.kkeksa dks vfHkO;fDr 

djukA

	 l`tukRedrk ds rRo
(i)	� çokg
(ii)	� fofoèkrk
(iii)	� ekSfydrk
(iv)	� foLrkj.k
fy[kuk vFkkZr ys[ku dkS'ky pkjks Hkk"kk 
dkS'kyksa esa lcls vafre pj.k gSA cPpksa 
esa ys[ku dkS'ky dk fodkl l`tukRed 
vfHkO;fä ,oa ekSfyd fopkjksa dks fyf[kr 
:i nsus rFkk fofHkUu mís';ksa ds fy, fy[kus 
dh {kerk dks lanfHkZr djrk gSA
l`tukRed vfHkO;fä ls rkRi;Z cPpksa }kjk 
vius fopkjksa dks lqanj] Øec¼ o jpukRed 
rjhds ls çdV djus ls gSA ;g fopkjksa esa 
ekSfydrk vFkkZr~ uohurk ls lecfUèkr gSA 
l`tukRed vfHkO;fä ds fodkl ds fy, 
,sls okrkoj.k dh vko';drk gksrh gS ftlesa 
ckyd Lo;a dks Lora= eglwl djsA

147.	 fodYi (4) mfpr gSA
O;k[;kµikB ds lUnHkZ esa gh lgt :i ls 
vk, O;kdjf.kd fcUnqvksa dks mlh lUnHkZ esa 
Li"V djuk lUnHkZ O;kdj.k dgykrk gSA 
ç;ksx ds vkèkkj ij Hkk"kk dh lajpuk dk 
n`"Vkar;qDr lexz o.kZu rFkk foospu djus 
okyk O;kdj.k dh lUnHkZ O;kdj.k gSA

	 eq[; fcUnq
(i)	� fu;eksa dks le>us esa lgk;dA
(ii)	� Hkk"kk lajpuk dks lqn`<+ djukA
O;kdj.k fdlh Hkk"kk ds cksyus rFkk fy[kus 
ds fu;eksa dh O;ofLFkr i¼fr gS vFkkZr 
O;kdj.k Hkk"kk dks O;ofLFkr djus dk dk;Z 
djrh gSA O;kdj.k Hkk"kk dks fLFkj j[krh 
gSA ;g Hkk"kk ds Lo:i dh lkFkZd O;oLFkk 

djrk gSA ;g Hkk"kk dk 'kjhj foKku gS rFkk 
O;ogkfjd fo'ys"k.k djrk gSA 

148.	 fodYi (4) mfpr gSA
O;k[;kµfo|kFkhZ fo'ks"k dh leL;k dks 
igpkudj mlds vuqlkj f'k{k.k fofèk esa 
lqèkkj vkdyu dk ,d egÙoiw.kZ vax gSA
vkdyu
(i)	� voyksdu djukA
(ii)	� çxfr ,oa miyfCèk;ksa dk fo'ys"k.k 

djukA
(iii)	� fodkl rFkk vfèkxe dks c<+kok nsukA

	 vkdyu dh fo'ks"krk,¡
(i)	� oSèkrk
(ii)	� fo'oluh;rk
(iii)	� O;kogkfjdrk
(iv)	� mi;ksfxrk
vkdyu ,d jpukRed çfØ;k gS tks lh[kus 
dh çfØ;k esa leL;k dks igpkudj lqèkkj ds 
mís'; ls xq.kkRed vkSj ek=kRed vkadM+ksa dks 
,d= djus] çkIr djus vkSj mi;ksx djus dks 
lanfHkZr djrk gSA

149.	 fodYi (2) mfpr gSA
O;k[;kµfy[kus esa dfBukbZ gksuk fMLxzkfQ;k 
ls lEc¼ gSA
fMLxzkfQ;k µ fy[kus esa vleFkZ gksuk

	 fMLysfDl;k µ i<+us esa v{ke gksuk
fMLdsydqfy;k µ x.kuk djus esa v{ke gksuk

	 fMLxzkfQ;k
;g lqlaxr :i ls u fy[k ikus dh ,d 
v{kerk gS vkSj ;g ,d fnekxh chekjh dh 
igpku ds :i esa fpfUgr gSA voèkkj.kkRed 
ikBksa] gLrys[ku ds dkS'ky esa ckfèkr gSA 
vfèkxe v{kerk raf=dk lacaèkh fodkj 
dks lanfHkZr djrh gS tks laKkukRed gkfu 
dk dkj.k curh gSA fMLysfDl;k (i<+us esa 
v{kerk)] fMLxzkfQ;k (fy[kus esa vleFkZrk)] 
fMLdsydqfy;k (x.kuk djus esa vleFkZrk)] 
vkfn vfèkxe v{kerk dk mnkgj.k gSaA

150.	 fodYi (4) mfpr gSA
O;k[;kµHkk"kk lh[kus esa lokZfèkd egÙoiw.kZ 
Hkk"kk le`¼ ifjos'k gSA cPps vius ifjos'k esa 
Hkk"kk vklkuh ls vftZr dj ysrs gSaA blfy, 
ifjos'k dk le`¼ gksuk vR;Ur vko';d gSA
le`¼ Hkk"kkbZ ifjos'k ls rkRi;Z ,sls ifjos'k 
ls gS] ftlesa Hkk"kk ds ç;ksx ds vfèkd ls 
vfèkd volj gksA Hkk"kk ç;ksx ls rkRi;Z 
Hkk"kk dh fo|ky;èd{kk esa fdlh u fdlh 
:i esa mifLFkfr ls gSA ;g mifLFkfr Hkk"kk 
ds fdlh Hkh :i tSlsµcksyus] lquus] i<+us 
;k fy[kus ds :i esa gks ldrh gSA le`¼ 
Hkk"kkbZ ifjos'k dk eq[; mís'; ckyd dks 
Hkk"kk ds pkjksa dkS'kyksa (Jo.k dkS'ky] okpu 
dkS'ky] iBu dkS'ky rFkk ys[ku dkS'ky) esa 
fuiq.k cukuk gSA


